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1. T faur o =
(a) EEoa ARITCTATH] AU YRTEe gL hvar=n FisFayad $od “TrIedr= <A
TEEET R A,

(b) = AEEEmS T 92 #W Foe aaivwe Fgdba afees w0 e st
Tl fHar sfuataiea YRa w14 FI0g" WaE 7wl

syt wmn faum/ faum famee omea?
(1) T (a) (2) T (b)
(3) JAArmemRaE (4) < s aTRa

Consider the following statements :

(a) The mode of removal of a Judge of a High Court is similar to that of removal of a
Judge of the Supreme Court.

(b}  After retirement from the office a Permanent Judge of a High Court can’t plead or
act in any court or before any authority in India.

Which of the above statement/s fs/ are correct ?
(1) Only (a) (2)  Only (b)
(3) Both (4) Neither (a) nor (b)

2. 'HTOTETEH] Sl SRIAAT QA 4 o @t ot w1 s fearearat a6 g A4 9
TR HII e’ STH ol e B ?
(1) sfeu med (2) TTERES BE
(3) e M (4) TR 3E
Who said “Begin with the charter of duties of man, and I promise, the rights will follow as
spring follows winter” ?

(1) Indira Gandhi (2) Jawaharlal Nehru
(3) Mahatma Gandhi (4) Morarji Desai

3. TEwisl S v TeagETe aEifae Aer ?

(1)  Tierp S YT (2) ¥ AW

(3) 3hwd anfor fa (4) TER

Which gmong the follou;ing is not a subject under state list ?

(1) Inns and inn-keepers (2) Betting and gambling
(3) Drugs and poisons (4) Tolls

o
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4, HEE g N v fafurear gew aien faev! ded=n aReedy Tes Iraauaaeee
IR A AUFR THETH! HIve AATHFR §31d FHifeae g ?
(1) T SfuFR & (2) e AfER &4
(3) weoRRE! UFER & (4) ey R &
The power of a High Court to hear disputes relating to the elections of members of
Parliament and state legislatures falls under its :
(1) Supervisory jurisdiction {(2) Original jurisdiction
(3) Advisory jurisdiction (4) Appellate jurisdiction

5. WOIGUH! HITE HSGERIEN WA Teawedie $o0 - 45 AHe fawams sgo A

A ?
(1) 42 ot TRAgEwN (2) 44 o TEAGEN
(3) 86 dt meAIgEE (@) 97 & meAgTwd

Which of the following amendment has changed the subject matter of Article - 45 in the
Constitution of India ?

(1) 42" amendment (2) 44 amendment
(3) 86" amendment (4)  97*" amendment

6. e o favivesrE et avwR]e omed ?
(2) TR, HAkF, W =W
(b) ST, TSR, T
(c) BREmn, e, SW 9 IR
(d) uwa Yew, e, ufvem "me

Iy 391 ;
(1) (b) 3 () R (2) (a) SR
@) (o) = (4) iRl =

Which states have Bicameral System ?

(a) Bihar, Karnataka, Uttar Pradesh

(b) Rajasthan, Gujarat, Goa

(¢) Haryana, Kerala, Jammu and Kashmir

‘(d) Madhya Pradesh, Punjab, West Bengal

Answer options :

(1) (b) and (c) true (2) (a) true

(3) (o) true (4) None of these
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7. WAGYR HIURE ST TREY WG ToEd YiEd SeAge] S A S0 S8 ?
(1) 83 2 99 (3) 109 4) it T

Which of the following schedule in Indian Constitution was added by the first
amendment ?

(1) st (2) 9 (3) 10tk (4 None

8. WO QUM S| o
(a) 1976 =T 42 ] HRATGERI HEUR ToAHed [V A I1 a9 THEw FI04W 3T,
(b) 1 T FO 51 A 71 THiE HourEl SIS O,
(c) & SRAIGEIgR ARTRGRT=A1 &1 Yd Haoar=! Ghea Ieaeea THIfas FI0a1 ST,
(d) sgmm@wﬁwwmAn@amwwaﬁammmw.

Flotw! SR faum/ faum famee om@a ?
(1) (), (b) 3 (o) (2 (a) 3 ()
(3) (a), (c) @ (d) (4) wd

Consider the following statements :

(a) 42nd Constitutional Amendment.Act in 1976 added Part IV A to the Constitution.
(b) | This Part consists of only one article, that is article 51 A.

(c) This amendment introduced a code of ten fundamental duties of the citizens.

(d) 89th Constitutional Amendment added one more duty in article 51 A.

Which of the above statements is/are correct ?

(1) (a), (b} and (c) (2) (a)and (¢
() (a)()and (d) (4) Al
9, g weeme) @l Wefgd _ C worh wften sma. g wfd
T SrwaimyA anfn TG TeEATHYA e ST,
(1) 3,15,10 (2) 24, 21,10 (3) 3,20,10 (4) 20,10, 10
There are ___ departmentally related Standing Committees of the Indian

Parliament, each committee consisting __ _ members from Lok Sabha and

from Rajya Sabha. )
(1y 3,15,10 (2) 24,21,10 (3) 3,20,10 (4) 20,10, 10
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10.

6 A

(a) VIR GO 1968 A TETUH ST fadas WiSvaK 1S BN

(b) YR SHUTS & TG IR I 49 ywol Awl. (SH 2018 94d)

Fheta wR faur,/ farm a2

(1} & (a) | (2) ™ (b)

¢) < | (4) SrEE GHd A

(a) The first Lokpal bill was introduced in the Parliament in 1968,

(b) The Institution of Lokpal has not yet come into existence in India. (Upto June 2018)
Which of the above statements is/are correct ?

(1) Only (a) (2)  Only (b)

(3) Both (4) None of above

11.

I ToaeeAgel gest wivaren ishd! goam @roiatst Siv &id ?

(a) S () T

() ewum (d) T

(e) e Tl '

uqidt 3T ;

() (a) 3 (b) ) (a) 3 ()

@) (a), (b) 3 () @ (@), ®) (@ 3 (@)
An amendment to the Constitution of India can be initiated by the :
(a) Lok Sabha (b) Rajya Sabha

(c) Prime Minister (d) President

{e) Law Minister

Answer options :

(1) (2) and (b) (2) (a) and (d)

(3) (a), (b) and (d) , {4)  (a). (b}, (d) and (e)

el SIMETE 9T /SPACE FOR ROUGH WORK
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12. wRar FaeyE s fedem faurite) S faa g o ?
(1) ¥ 3B O e Fasus o 9 dH Feagus s fag S0l Tk,
@ g@ﬁa@ﬁwaﬁawmmﬁﬁwmw _ 7
3) mwmwaﬂhmmm@aﬂhﬂammwﬁmﬁmﬁ
(4) TR =L
Which of the given statement is false regarding the Election Commission of India ?
(1) The body is comprised of a Chief Election Commissioner and three Election
Commissioners.
(2) The President appoints the Chief Election Commissioner and the Election
Commissioners.
(3) They have a tenure of six years on upto the age of 65 years whichever is earlier.
(4) None of above.
13. @O faum foema =0

(a) T UHEl 9 AN Fas Tagddie faagmemedsa adl g9 Scoudl a6 S8
FRal, "

(b) wuﬂﬁmmﬁmwawﬁmmwmw&gﬁmm
wgidr 39T

(1) - faum (2) IS (b) FFE 9T,

(2) faum (b) SO (a) FH o7,

(3) AR fau R amge.

@) o faum gl eRa.

Consider the following statements

(a) A State Human Rights Commission can inquire into violation of human rights only
in respect of subjects mentioned in the state list.

(b) The Chairperson and members of a State Human Rights Commission are appointed
and removed by the Governor.

Answer options :

(1) Statement (a) is correct, (b} is false.
(2) Statement (b) is correct, (a) is false.
(3) Both the statements are correct.
(4) Both the statements are false.
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14. THSUH IR g3 € faR geAcs @EEt g ?
(1) wfvw sreadenmmEE! fadm sifsr

(2) T
(3) T3 DFqar TR
(4) T AFE T A

Which of the following is not a Constitutional body ?
(1) Special Officer for Linguistic Minorities

(2) Advocate General of the State
(3) State Public Service Commission
(4) State Human Rights Commission

15. SISW o
(a) I ufeers fam @)
(b) & TolE WO (i)
(© W T (i)
(d) 1 RS E (iv)
Tafedt I '

@ () (o (d
1) O @ (@) @)
2 @) @) @ ()
@) (v) @) @ i
(@) G(v) @) @) @
Match the following :
(a) Dr. Sacchidanand Sinha (i)
(b) Dr. Rajendra Prasad (ii)

(€). BN. Rao (i)
(d) Pdt. Jawaharlal Nehru (iv)

Answer options :

@ (b) (0 (9
1 O @ @ (@)
(2 @) @) @ @
@) @) @) @ (@)
(4) (@) () @ @

ARG :

e yfiwea diawfas gveri
AT YREGE HEANEEU! a8
afee s et arcgi st

Objectives Resolution

Constitutional Advisor of the Constituent
Assembly A

Permanent President of Constituent Assembly

Temporary Chairman of first Constituent
Assembly
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aEwiE! Pl AFANS THIETR t;ﬂﬁ@k%mﬂ?
(1) *TEFS (2) wWAHE

(3) FwrET 4) TReefE fueet
Who among the following was never a Speaker of the Lok Sabha ?

(1) KS. Hegde (2) Hukum Singh
(3) Krishnakant _ {4) . Gurdayalsingh Dhillon

17.

oot ® faas T dams Teaien ffidd g dia o ?
(a) * FoEmE TS TRW 97 84 FS 1S .

(b) ¥ G B T el TR M i e T A5
(c) o Teaie fafeh we araey S w5 39,

(d) TeHiw Hudl fama w6 teavifea oW 933 Tha .
yFiE I ' o
1) (@), @) (d) @ @b« . 3 (@) (d @ )@, @

Which of the following statement is correct about the formation of states in Indian
Union ?

(a) It can be done by separation of territory from any existing states.

(b) It can be done by Uniting two or more states or part of states.

(c) The creation of New states can be accomplished by an ordinary legislation,

(d) The Parliament cannot alter the territory of the states without their consent.
Answer options :

(1) @), ®) (@ 2) (@), ®) @ 3 (@ () @) 4  (®) ) (d)

18.

TEIECATAR T Tt Jree Sied He o W

(a) el TR Aised faias = fafitnigem amisy 9.

(b) R IETEANS TIETHN! AN FH FG T,

(©) TR F=A R e yrom FvgM T wieA siand arilde.

(d) e TR AU it T Fiear Hemred qaral Hafd=rar 3,

qaid I

1) @ 03 2 I @) (), b)) 4 (@)« 3Ad)

According to the Constitution proclamation of President’s rule in a state can be made :

(a) When a bill introduced by the State Government is defeated in the state legislature.

(b) If the State Government is not carried on in accordance with the provisions of the
Constitution.

() If the State Government fails to comply with or to give effect to any direction from
the Centre. " ‘ ‘

(d) When the Governor and the Chief Minister of a state differ on a vital issue.

Answer options :

(1) (a), (yand(c) (2) (b)and () () (@) (b)and (d) (4) () (c)and(d)
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19. TR - 1 AES et qE - 1 weiie qaiv T oo GRaisnaR e Wel s

ot - 1 gy -
(a) AfFIT =T AfusR () weH - 29
(b) TN S g e () & - 21
() am@m-éaqfw (ili) S - 16
(d) vieurfargyuEl SAfUER (iv) &M - 30
v Fo - 23

it 3y ;

@ (b (© (@
1 @ @ vy @
(2 @ @) Gv) (@)
(@) @) @ G ()
4 (@ () () v

Match List - I with List - II and select the cotrect answers by using codes given below :

List-1 List - IT
(@) Right to personal liberty (i)  Article - 29
(b) Equality in public employment (i) Article - 21
{c) Minorities Rights (iii) Article - 16

(d) Right against exploitation (iv) Article - 30
| (v} Article - 23
Answer options : |
@ () @ (@
1) @@ @) (v) @
(2) @) @@ (@v) ()
@) @) @) @ (v)
@ @ @@ (v) (v
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20. 3Tk ST HIRIN ?
(1) FSH79 - BEHAYH &
(2) HH 84 - TS U Il
(3) woH99 - gug gfaaea
(4) HOH 85 - W YA
Which is correctly matched ?
(1) Article 79 - Composition of the House of the People
(2} Article 84 - Qualification for Membership of Parliament

(3) Article 99 - Secretariat of Parliament
(4) Article 85 - Disqualification for Membership

21, VAR SHeen STYERER o Aaiewsd Sioe A faure =

(a) Jgas 9% & Teudien @ Gud Heed 95t HUE o,

(b) TAERA Frvifla woca Haieen T Ted 9uee Fl HUa I,

(€) HE WS FOS FES SR TTEEANS QT fodma edie | d Fered AAIHgA
SR UM i 319 Iehdr.

(d) TEIUSAERI AFTRH S Fidt YOV 59 9810 Hoo ATed re FwaH! sifea weifed
(A

i I

(1) faud (a), (b), (d) T ARa.

2) fauM (a), (b), (c) ST 28,

(3) UM (a), (c), (d) T A

4y TauH ), (), (d) T M.

Consider the following statements regarding limitations on the authority of the Indian

Parliament :
(a)} Most of the bills can be introduced in the Parliament with the prior consent of the
President. ' ‘

(b} Parliament has to operate within the jurisdiction earmarked by the Constitution.

{c) The laws enacted by the Parliament can be declared as unconstitutional by the
Supreme Court if they contravene the provisions of the Constitution.

(d) The authority of the Parliament is restrained due to grant of certain Fundamental
Rights to the citizens by the Constitution.

Answer options :

(1) Statements (a), (b}, (d) are correct.

(2) Statements (a), (b), (c) are correct.

(3) Statements (a), (c), (d) are correct.

(4) Statements (b), (c), (d) are correct.
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22, S Iyftn Ffymt o SrSem (¥ SleTay wWidiets! HIvk faur/3 slew aR/a ?
(a) T HEA T SN FUAEET T T TR Al STaeEed 3.
(b) T dEg U Tafudearen dadl Riema tar= 9w 96 Jud FHl wE Thd 6.
(c) WWWWWIV-A@Wmﬁ.

it I

M @) (2) (b) W

@) (), () (4) ST THE R

Which one of the following statements is correct about special status to the state of Jammu
and Kashmir ?

(a) Parliament needs the State Government’s concurrence for applying all laws.

(b} Indian Parliament cannot increase or reduce the borders of the state without the
consent of its legislature.

(¢} Part IV and IV A of the Indian Constitution are applicable to the state,

Answer options :

M @ © (2) (o) only
(3} (b), (c} (4) None of the above

23. YRArE SURUHE Fag suamee HarEs TiEE (SORRT hios ) O
2l

(1) Hw&= Q= RN Faga o vgea

(2) Hycdte fraga srow s anfin veai= fayum gvindte fraga sneem g
(3) IH S QYRR 9d e

(4) wog v wai= faum g 94 agwre

The electoral college to elect the Vice President of India consists of

(1)  Elected members of both houses of Parliament

(2) Elected members of Parliament and state legislative assemblies

(3) All members of both houses of Parliament

(4) All members of Parliament and state legislative assemblies

HoAT HAATS AT /SPACE FOR ROUGH WORK




A 13 A T11
24, T&o faumritt Fomt SiET ome ?
(a) <Hedio HEHSE T AN fEFic Haqe FeeER STHAT,
(b) BFAV T TG G TS AWSTT AN G HhaTd HAHSEIEA T3l Evad I ITHa.
&gt I
- (1) A (a) (2) W (b) (3) =& (4) HIORE TR
Which of the following statements are correct ?
(a) The Council of Ministers in the Union of India is collectively responsible to the
Parliament.
(b) The members of both the Lok Sabha and the Ra]ya Sabha are eligible to be the
Ministers of the Union Government.
Answer options :
(1) Only (a) (2) Only (b) (3) Both (4) None
25. STYfEd IES USIT SERT S HIUd 377 ?
(a) ST SAIRTEre QR GUan STAeh Hafkd T ameii=! qorael 3 THEor H,
(b) TELTH EAS HIGL FHOL.
(c) STTgfd STite |tforek & i faeprar=n fare ufsda T o,
et 3T :
(1) @ @© (2 @, ()
(3) ®)(©) 4) 0ot wd
What are the functions of National Commission for SCs ?
(a) Investigate and monitor all matters to the legal safeguards for the SCs.
(b) Present Reports to Parliament.
(¢) Advise on the planning process of socio-economic development of SCs.
Answer options :
1) (@), @ 2 (@ b
3) ), (© . (4) Al of the above
26. M ITHEAAS e e il quategy R WTH .
(1) »&| 20 (2) wHeEH 21 (3) HoH 22 (4) HEE3ID
in the Indian Constitution gives the Right against public hanging.
(1) Article 20 (2) Article 21 (3) Article 22 (4) Article31D
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27.

14 A

TR HeteA fae=m anfon e yrEE TR 1 S

(a) YA &R A HE

(b) WEF T FER A fadfiies

() T e

(d) I TR e YR TR e o MEHE Ge a1 SHE el
FhiH! wve/R faur/faum st amg/q?

(1) wH () (2) R (a) S (b)

(3) K (a), (b) M (c) (4 wd

For part three and four of the Indian Constitution the term ‘State” includes :
(a) Government and Parliament of India.

(b) Government and legislature of each of the states.

(c) Local authorities.

(d)  Other authorities within the territory of India or under the control of Government of
India.

Which of the above statement/s is/are true ?
(1) Only (a) (2} Only (a) and (b)
(3} Only (a), (b) and (c} 4y Al

28,

YRdE HeRpara =] ol faum o =i ;

(a) s, F=er suftn sifEfoarea TeAimyR YRAT T Heear 3fired Sae a1
(b) TEH THAHS IR BiRad B0 T FEe.

(c) WG HaUeadies weshial e Fremaran sAfusr o

Hv faum/ SA= A/ ?

(1) W (a) @ ) adi(Q @) (aFREQ (4 FR(Q
Consider the statements about Indian federation :

(a) Indian Constitution has borrowed federal features from the US, Canadian and
Australian Constitution.

(b) Indian federation was a result of an agreement between the units.
(¢} The units of Indian federation have the right to secede.

Which statement/s is/are not correct ?

(1} Only (a) (2) (b) and (c) (3) (a)and (9 (4} Only ()

oA HINMEE ST /SPACE FOR ROUGH WORK
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29. W faur faemm =0

(@) ‘iRl T5a' RN ToT T gHi TaE S ) sufn S o wd tea e
T ).

(b) VAW feusit SI=T 25, 26 afu 27 feawre wiflser T S o1,
(c) wHFRUNET 81 Teame= Wad |ia-al YH 3T,
Tt oK faum/ FE o me/a?
(1) = (a) (2) (a) 3nfw () (3) () 3o () (4) o w
Consider the following statements :

(a) ‘Secular State’ means, the state protects all religions equally and does not itself uphold
any religion as the state religion.

(b) The framers of the Constitution adopted Article 25, 26 and 27 so as to further
secularism.

(c) The secularism is a part of the basic structure of the Constttutlon
Which of the above statements is/are correct ?

(1) Only () (2 @and(© (3 (and(  (4) Allabove

30. UEH FTOEEA® A TRaR 2014 948 WRARTS ™A I Ei® W R
T g ¥ O, -
(1) == @ ¥ () =@ (4)
The National Commission for Minorities has notified communities as minority
communities in India, as of January 2014.
(1) Five () Six {3) Seven (4) Eight

31, woEtE Svn faum/faum g s ?
(a) TEFEIS AL I INAY § N YUFET YA T,

(b) SN IR IR FHEH GG Jagt § Ufecdn Flid HagH S Jhar.
gaidt 346

(1) %ae (a) 49 AR ) %98 (b) A4 AR

B) (a) 3for (b) A AT AR ! (4) (a)ﬂTﬁT(b)ﬂ%’TSTﬁqum
Which of the following statements is/are correct ?

(@) The Chairman and the Deputy Chairman of the Rajya Sabha are not the members
of that House.

(b) While presiding over the House, the Deputy Chairman can vote in the first instance.
Answer options : |

(1) Only (a) is correct (2) Only (b) is correct

(3) (a) and (b) both are correct ~ (4) Neither (a) nor (b} is correct
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32, T g T HE AT fHe S el e §RoES Togr=
(1) | = If foeeh
(2) T yew afn BfiwTe

3) I YW I ey yew

(
(4) FEA T I THEIH

There is a demand for creation of separate state of Bundelkhand covering the areas in the

present statesof ___
(1) Uttar Pradesh and Delhi

(2) Madhya Pradesh and Chhattisgarh
(3) Uttar Pradesh and Madhya Pradesh
(4) Madhya Pradesh and Rajasthan
33. AN Ay e ATeF G THSTT IR FAed S ST,
(1) <A (2 H @) u @4 ¥R
The Chairman of the Rajyasabha nominates a panel of not more than Vice
Chairmen.
(1) Two (2) Five (3 Six (4) Four

34. WERUH! FR faum yda teaEeTen dten e g 9uiE w4 ?
(1) = affirer Tt aafae Gt 9t T o,
(2) = aRfrer &7 oftn tramtte Afue TRy It I TEifae AR
(3) = ufifirem Tewddie ST qel wEfae o,
(4) = ofifirem snfsard Serean TaeAETEa weE TEY TR,

Which one of the following statements correctly describes the Fourth Schedule of the

Constitution of India ?

(1) It contains languages listed in the Constitution.

(2) It contains lists of the distribution of powers between the Union and the States.
(3

)
) It allocates seats in the council of states.
(4)

It contains the provisions regarding the administration of tribal areas.
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35. WOOUE! IV S ¢ W Aitgen 3ufor srdnfae il e dae ?
(1) Y 2) A&
(3) o i (4) afusrg=n
Which of the following writs can be issued only against Judicial and Quasi-judicial
authorities ?
(1) Prohibition (2) Certiorari
" (3) Habeas Corpus (4) Quo-warranto

36. 2003 WY {HEESA FASUET HIQ O 956 FOER S ?
(a) SHeER et T FraTelt aTAvATSY ST R i g wE T
(b) TR WO T SHAH g o7 I @ Hifedt
(¢) USRI &I WIESTE YT 10 T TSIRROmE] S
(d) A AR T nftn Feaie 70 e sfie TEmE!

‘Rﬂ'ﬁ?ﬁl‘{': ‘
(1) (a) 2ufor (b) sR (2) (c) 30 (d) TA=
(3) W (a) TR (4) I (c) TN

Which two changes were introduced in the Rajya Sabha elections in the year 2003 ?
(a) Thecandidate need not be resident of related state and open election to be conducted.

(b) “The candidate shall be rejected if found criminal background and he must provide
correct information of property.

(¢) The candidate must have membership of National Party and 10 years of Political
experience. ‘

(d) He must not be a defeated candidate and age should not exceed 70 years.
Answer options :

(1) . (ayaiid (b) correct : (2) (c) and (d) correct -

6 only (a) correct (4) only (c) correct
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37. WHNER! GHTEEA HE B AR ?
(a) WESERT 98 1938 HEY HIUH TT ST .
(b) = g G ¥ THNER! G HEATE 3eE 2.
(c)  SPYSHI AIEC], TH.UH, W, STelieh el ¥ SHIeHE) Ue/ S TR uee R 2,
ik
(1) % (a), (b) (2) R (b), (c) (3) K (a), (c) 4)  (a). (b) 3o ()
{What is true about Socialist Party ?
(a) Socialist party was separated from Congress in 1938.

(b) Acharya Narendra Dev was a founder President of Socialist Party.

(c) Jayaprakash Narayan, S.M. Joshi, Ashok Mehta were leaders of Socialist Party/
Praja Socialist Party.

Answer options :

() Only(), (b)) (2) Only(dh () () Only@. (& (4 ()b and(q

38, uRG WaUFTE AT 19(2) A YNV W ATHERE oeeedl YEus anuR
HIA 3R ?

(a) HETEETE S (by s

(c) WA HEREl 3EAH (d) A gefswa
m'ﬂﬁ:

(1) = (a), (b), (d) | (2) % (b), (), (d)
(3) (@), (), (d) (4) ¥ (a), (b, ()

Which are the grounds of restrictions imposed on the exercise of the right to freedom of
speech under Article 19(2) of the Indian Constitution ?

(a) Contempt of court (b) Defamation

() Contempt of Legislature (d) Security of the state
Answer options :

(1) Only (a), (b), (d) (2)  Only (b), (c), (d)

(3)  Only (@) (c). (d) | (4)  Only (a), (b). (c)

weedl HIFEE AR /SPACE FOR ROUGH WORK
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'O /T RS & 2

(1) Ud afts FRESHA SA9edl TeT= TSR 393 T80 98 Fiiwaiae! 7 Hishe e,
(2) wd afte FHEEA TH =@ A $fen i Ry e

(3) wd aits FwsHH U Team v TEa anfn <., it 3 waeH #a@.

(4) wd AR HirgeF T T BRI ool 9@, '

What is meant by ‘Kamaraj Plan’ ?

(1) All senior congressmen should resign from office to make way for younger party
workers.

(2) All senior congressmen should unite and oppose to Indira Gandhi.
(3) All senior congressmen should hear the words of heart and vote for V.V. Giri.
(4) All senior congressmen should advice the younger party workers.

40.

v Y Sl
(a) Wﬁwmﬁwzsml%ﬁﬁﬁw
b) TIF T 9 TFo Hiearears FeHa T Ao Heasumme sra fasys

mﬁaﬁﬂwmmﬁ?ﬁ
Tt I :
(1) % (a) | (2) = (b)
(3) (a) W (b) A= @) (a) *0f (b) A=A T

Select the correct statement : 7
(@) The Election Commission of India was established on 26 November 1949,

(b) The Election Commission of India has provided experts and observers for elections
to other countries in co-operation with United Nations and Common Wealth

Secretariat.

Answer options : .

(1) Only (a) (2 Only (b)

(3) Both (a) and (b) (4) Neither (a) nor (b)

41, TSR FW TET THE T T ?
S (1) . TSR (2) faq waE

(3) W 4) *wuE g

Who was not a leader of Swatantra Party ?

(1) C. Rajgopalachari (2) Minoo Masani

(3) P.C. Joshi (4) KM. Munshi
— )
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42,

20 -

S @ - (MRarE! SFRIOEI, 2011)

ar -
(a) MRS WERAT & () 64.6%
(b) TEHET WARA X (HE) (i) 80.9%
(c) HESI=n WERET < (W1d) (i) 82.34%
(d) TIERTSI HaRdl <X (iv) 73.0%
it 397

(@ (b) (o) (d)
(1) (@) @) (v) ()
(2) (wv) (@) @ (i
@) (v @ () (i)
(4 @ @ @ @)
Match the pairs - (Census 2011 of India)
' A’ ‘B
(a) Literacy rate of India (i) 64.6%
(b) Literacy rate of male (India) (iy 80.9%
(c) Literacy rate of female (India) (i) 82.34%
(d) Literacy rate of Maharashtra ({iv) 73.0%
Answer options :
@ O @© (@
W @ @ @ 6
@ @) @ @) )
@) G O @ )
@ @ @ O W

™
N

5

....
=

43.

DI TIYHTN TS G a1 HF G 3R ?
(a) T FIUN THSERE! 14T TEAIE TR gR.
(b) T 1965 WIS WA TSTHROMTET W FHA.
(c) TN YT ARIGAT TEUIT S,
(d) @ anforaToire fatars wfas 2.

Tgidt 39
(1) (a), (b) 30 (c) (2)  (b). (c) ¥ (d)
@) (a), (c) T (q) (4)  (a), (b) 30T (d)

What is true about Loknayak Jayaprakash Narayan ? '™

(a) He was a founder general secretary of Congress Socialist Party.
(b) He quit active politics in 1965.

(c) He was involved in Bhoodan Movement.

(d) He was a symbol of opposition to Emergency.

Answer options :

(1) (a). (b) and (c) (2} (b). (c} and (d)

(3) (a) () and (d) (4) (a), () and (d)

HeAT SIS WA /SPACE FOR ROUGH WORK
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44, AT I 3 :
(a) ‘'FEra fqands faer’ @ grimew ‘g faends efio faer’ o/ Ftuam o,
(b) TR =R Sy ARE SEE s @ e ga Heg faenderE T FoEa

.

e T |

(1) % (a) (2) K (b)

@) (@) anfn (b) A (4)  (a) 3 (b) S

Select the correct statement :
(a) The ‘Central University of Bthar' is rename- as ‘Central University of South Bihar'.

(b) The second central university is established in Bihar by the name of ‘Jayaprakash
Narayan Central University’.

Answer options : .
(1) Only (a) .. (2) Only@®)
(3) Both (a) and (b) -« (4) Neither (a) nor (b)

45. SR {99 3YETE T, 2015 - 16 7R &4 Fen SREFAEE F2 9 T TEIE Fft aey
qgdra wmm 318 B,

(1) 60 : 40 ) 75:25 (3) 70 :30 (4) 65:35

The fund sharing pattern between the central and state governments for Sarva Shiksha
Abhiyan was in the ratio of , since 2015 - 16 (except a few states).

(1) 60:40 (2) 75:25 < (3) 70:30 (4) 65:35

46. AT HYUT il : o :
() FraeE gurt sertdre v irard afrdt=h T 1990 el we.
(b) TISUH GUR Sreridie gt Tl AfE= e 1995 783 el
'ﬂ'ﬂfﬁf T
1) W@ j (2) ()
() @)@ (4) () 3T (b) TR A
Select the correct statement: == I .
(@) Dinesh Goswami Committee on Ejectoral reforms was set up in 1990.
(b) Indrajit Gupta Committee on Electoral reforms was set up in 1995.
Answer options : o _
(1) Only (a) | (2) Only (b)
(3) Both(@and(d) . {4) Neither (a) nor (b)

FoT WIS AFT /SPACE FOR ROUGH WORK
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47. RO 69 9= RV FOHGR/ FONER aguH=n devid eady S aEeaia
st g ?
(a) woH 324 (b) e 325 (€) oW 327 (d) w329
qaiEt I
(1) (2) o1 (b) FrF (2) R (c) IF e
() R (d) 3TF T (@) (a) 300N (d) 3TF 36
According to Indian Constitution which article/s state/s that court should not interfere
in elections ?
(a) article 324 (b) article 325 {c) article 327 (d) article 329
Answer options :
(1) (a) and (b) are correct (2} only (c) is correct
(3) only (d) is correct (4) (a) and (d) are correct

48, VIR FOQOEE ST FOR Fre oA ?
(@) oS TTA
(b) e gewm

(0) T fohar yeER e SRERR $
(d) 3nfEfa TR 98 HRoT ey

i Y
(1) i (a), (b), (o) (2) % (b), (), (d)
(3) HK (a), (c), (d) (4) T (a), (b), (d)

What are disqualifications of voter in India ?

(a) ~ Ground of non-residence

{b) Unsoundness of mind

{c) Crime or corrupt or illegal practice

(d) Holding office of profit

Answer options :

(1) Only (), (b), () (2)  Only (), {c). (d)
(3)  Only (a), (c), (d) (4) Only (a), (b), (d)

HEAT HITETS = /SPACE FOR ROUGH WORK
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23 T11
AR e e TR F el T g o ?
(1) sfEe wwda foened ofeg
(2) 3 e Tggey Fewwm

3y e wEy gfHEa A gfem

(4) wafEE T gfm

Which student organization among the following is affiliated to the Communist Party of
India (Marxist) ?

(1} Akhil Bharatiya Vidyarthi Parishad

(2) All India Students” Federation

(3) National Students’ Union of India

(4) Progressive Students’ Union

50.

IS & - (ﬁfﬂ%ﬂﬁﬁ~nmﬂﬁaqm)

- -
(8) T Ao () TeRIH
(b) 3 °rM (i) O
() e A= (i) 3T
(@ fori v) =
qaidr Y

(@ (b () (d)
1 @ @ @) @
(2) @) @v)y () (@)
@) @(v) @) @@ @
(4) (i) () @ (v)
Match the pairs - (Tithi Bhojan - Mid-day meal scheme)

[

A’ B’
(a) Sampriti Bhojan (i) _ Rajasthan
(b) Anna Dhanam (i) Punjab
{c) Utsav Bhoj (i) Assam
(d) Priti Bhoj (iv} Puducherry

Answer options :

@ (b) (o) (d)
(I @ @) Gv) @
(2) (@) (v) @) @
@) Gv) @) (@) @)
@ @ @ O @)
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51. IS o6

(a)
(b)
(€)
(d)

(fa==)

fafwarm fadgs
¥ fatgesrET sren

T I

(1)
(2)
@)
(4)

@ & © (@
@ 6 G i)
O @ @ @)
@ G @ )
M @ @ )

‘Match the following :

(a)
(b}
(©)
(d)

(Subject-Matter)

Votes on Account
Appropriation Bills
Definition of .Money Bills

Annual Financial Statement

Answer options :

1)
2
()
4)

@ b © @
@ @ ) ()
0 @ @ @)
@ @ 6 )
0 G @ W)

24

(1)

(i1)
(i)
(iv)

@
(i)
@)

(=%em)
204
206
202

199

(Article)
204
206
202
199

HEAT HAMS ART /SPACE FOR ROUGH WORK
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52, iremomE - (e St deer)
‘ 31" . 'a ' .
(a) H&H () e e snft ey fam
(b) SSH (i) e foeorae g frsesdt
(¢) &R 9Ra (i) = faenaatare frsast
d) wEr (iv) Hot=n faeomn o
it 39 : ‘
@ () () (d)
1 @ (v) (w) @)
(2) (W G @@ @)
(3 Gv) @) @ (@
@4 (@@ Gv) @@ @
Match the pairs - (Educational Schemes of the Government)
l‘A’ I'B!
(a) SAKSHAM ()  Adult education and skill development
(b) Udaan (ii) Scholarship for Girl child for technical education
(c) Sakshar Bharat (iif) Scholarship for differently abled children
(d) Pragati (iv) Development of girl child education
Answer options :
@ (b (o) (d)
O 6 @ @ @
(2) @) @@ @ @Gv)
@) () () (@) ()
@) (@) @Gv) @ ()
53.

B I HET S ? | '
(1) Tsia mel e g

(2) EI AR HAegw U g

(3) e SIhie T I s

(4) e Siifaen o T gt

Which scheme provides financial assistance to Scheduled Caste students for pursuing
research studies leading to M.Phil, Ph.D. ?

(1) Rajiv Gandhi National Fellowship

(2) Dr. B.R. Ambedkar National Fellowship

(3) Babu Jagjivan Ram National Fellowship

(4) Mahatma Jotiba Phule National Fellowship
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54. G FoM e , ,

(1) 1951 Al QraTE) & TERRIAE Sidro TFn @ o enfn ad e Haeuwia gevrlt
Trogran foig dae,

(2) UF. Ty, TA.U TN, 7o 9N & ArgERt vane (CP) R g,

(3) 1964 A% VPSR! 94 I TRME fawrer e CP1 A e @ad F anfer Cp1 (M) A
T 7T &

@) ffewtn == Tgh soff fdurde wemer wida oA aneEmi 1941 W 3@,

Select the incorrect statement :

(1) In 1951 the Communist Party abandoned the path of violent revolution and decided
to participate in the general election.

(2) AXK. Gopalan, S.A, Dange, Ajay Ghosh were leaders of CPL

(3) In 1964 Communist Party spht in two groups CPI supported to China and CP] (M)
supported to Russia.

(4) In 1941 the Communist decided to support the British in their war against Nazi
Germany.

55. el {9 STaeSiie Usihig vl wrifae ded e sadl.  wnaErdl garisar smedia
TS T HIUE T Fvdd O SR ?
(a) WTETE! U8 SHEEIR
(b) AT VAT €T v HERY §E A
(c) whidaT 3UgH
(d) THTE QYT A T i
<N e @ oo wahitet S vaiE Sl (a), (b), (o), (d) @i s wae
it ? '
1) ¥, ifw, wrE, 99 (2 A, 9\, vrE, $Ee
(@) MR, §s, 9, v @) <, SAfE, v, o
In every political system, each political party manifests different social context. Among

the following sentences regarding Communist Party, which appropriately suits given
groups ?

(a) The Communist Party is illegal.

(b) No law to prevent formation of Communist Party.

(c) Communist party is the torch bearer of revolution.

(d) Various branches of single party.

Which sequence of the following groups of countries correctly represents (a), (b (c), (d)
above ?

(1) England, Amenca, India, China (2) Americ¢a, China, India, England |
(3) America, England, China, India (4) China, America, India, England

&oelT HIATAIS AN /SPACE FOR ROUGH WORK | .
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56, WY A e |
(a) RN Y e ' AR e € sfeuren v faws yrare 43! v weR
ﬁ. .
() WA FREm g & 70 o SRS YeEie SRS Gh ITE §9e 2R
ot Iy
1) ) (2 = (b)
3) (a) amfn (b) A @) (a) 3nfn (b) A T
Select the correct statement : '
(a) Shetkari Sanghatana of Maharashtra declared the “Farmers movement as a war of
Bharat against the forces of India”.
(b) The Bharatiya Kisan Union was one of the leading organisation in the farmer’s
movement of the seventies.
Answer options :
(1) Only (a) (2) Only (b)
(3) Both(a) and (b) (4) Neither (a) nor (b)
57. 3TENg FUA i

(1) TR TogE Famed fraw Ife 3 Joe Ife = TRy s,

(2) U= dor Yfie di SHeaRYda dal g W, -

@) & Fraso gfe 48 PR W TarE AT 39 ek,

(4) TORITIE TAEH 97 € 6 WieT dl T g BN onfn A o el anfn o
ffeerdy ST g T,

Select the incorrect statement :

(1) The Electronic voting machine consists of control unit and ballot unit.

(2) One ballot unit caters upto sixteen candidates.

(3) One control unit can record the votes polle.d by 48 candidates.

(4) The Electronic voting machine operates on a 6 volis battery and can be used anywhere
and under any conditions.

T HAES AT /SPACE FOR ROUGH WORK
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58. WIAGYY HehY YEAHTTR FEATSATEN eI Heaaa oLl FIUT TreR-d3 are i 2

(a) o wlen (b) &ife frem
() W& (d) TEFEE/ @ErEEd
qHidr 3 ;

(1) " (a), (b), (¢} (2) % (a), (b), (d)
(3) W (a), (o), (d) (4) P (b), (c), (d)

Which sources - techniques are used in Formative Evaluation under the Continuous
Comprehensive Evaluation Work Method ?

(a) Written Examination (b) Daily Observation

{(¢) Project (d) Homework/Exercise

Answer options :

(1)  Only (a), (b), () (2)  Only (a), (b}, (d)

(3) Only (@), (c), (d) (4) Only (b), (). (d)
59. el o - (VRIS JRie)

] a‘ 1 + a 1

( =T/ HaeT ) ()

(@) st g T @ fawen

(b) TESM (i) S

(c) hrEit BEgy st W] (i) frehed

(d) Y (AASU) (tv) AEM

it ST

(@ (b) (o) (d)
(1) @) @) @ @) -
(2) @) @ @ ()
@) @) @) @) (i)
(4) (@) (@) @@ @)
Match the pairs - (Regional Aspiration)

JAJ IB'
(Person/Organisation) (State)
(a) Angami Zapu Phizo (i)  Sikkim
(b} Laldenga (i) Nagaland
(¢) Kazi Lhendup Dorji Khangsarpa (iti) Mizoram
(d) AASU (iv) Assam

Answer options :

(@ ) (o) (d)
) ) ) (@) (v)
) (@) @) @) (W)
) @) (@) () (i)
) ) (@ @) (iv)
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60. WO aE = :
(2) 2001 =1 SRV SHUR TG FO0 HAGR WY ¥ 2026 aten ufegewn v wfa
(b) IR M T Srwa, faumam anfor wenfre Feeie Aaer Wi ufEiEa w.
FS®! v/ TR/ A AT 3T/ 3 7
(1) (a) 3o (b) = (2) (a) & TR 3nfon (b) B
(3) K (b) (4). N (a) |
Consider the following statements :
(a) Constituencies carved out on the basis of 2001 Census will continue to be in operation
till the First Census after 2026.
(b) Delimitation commission demarcates the boundaries of constituencies of Lok Sabha,
State Assemblies and Local bodies.
Which of the above statement/s is/are correct ?
(1) Both (a) and (b) (2) Neither (a) nor (b)
(3) Only (b) (4) Only (3)
61. g F e

(a) &, 2002 TEA UEHT TSR G941 51 (NFF) Wahid giodel Ward foden @
Frofaren fotty FoaTaTst U WG €Y F0AR STEE HIOE 3T,

(b) Y YT T WeEe A wfee wafadd, miea o, TR fadd Seen
Heyio smh-fatidt aTide mew 1.

vafdt 3¢ ;
(1) X (a) (2) e (b)
(3)  (a) I (b) A= (4) (a) 3T (b) AE TR

Select the correct statement :

(a) In July 2002, National Fish Worker's Forum called for nationwide strike to oppose
the move of the Government to issue licences to foreign trawlers.

{b) Rural women in remt;i.te villages from Andhra Pradesh fought a battle against
alcoholism, against mafias and against Government, these agitations known as
Anti-arrack movement.

Answer options :
(1)  Only (a) (2)  Only (b)
(3) Both (a) and (b} (4) Neither (a) nor (b)
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62. Img FY e .
(a) WA gaus ufiig & duifra gt ~nfaw wraw geen o
(b) R axes IRERAe) U 37eel o 28 TEEE HAY g,
(¢) TN WA A H0 & RAE Ies IR 3k TR,

T 39T _
(1) K@), (b) - (2) HEH (b), (o)
(3) = (), (o) @) oo wd

Select the correct statements : : :

(a) The Press Council of India is a statutory fully judicial autonomous authority.
(b) The Press Council of India comprises a Chairman and 28 members.

(c) Preserving the freedom of press is objective of Press Council of India.
Answer options : : ‘

(1) Only (), (b) (2) Only ®). (0

(3) Only (a), (c) (4) All of the above

63. VAN T4 21 9% 18 Fud FH FOGHSiag qeA1 okl HIoEt TR ?
(1) ThEeE! e e
(2) SETEEE H2A e
(3) AHET wAl gEE
(4) VR e gEeh
Which constitutional amendment is related to reducing the voting age from 21 to 18 years ?
(1) Sixty first constitutional amendment
(2) Forty second constitutional amendment

(3) Sixty third constitutional amendment
(4) Eighty sixth constitutional amendment

64. SHEIAL TR A M7 TGP SR WS ford) TS AeER W 3 ?

(1) wEH. - 78, TEA, -39 () T, -84, WA - 47

(3) TwaE. -81, T -39 S (@) T -79, A -41

How many constituencies are reserved for Scheduled Castes and Scheduled Tribes in the
Lok Sabha ?

(1) SC-78,ST -39 () SC-84,ST-47

(3) SC-81,ST-39 (4) SC-79,ST-41
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65. 3Ty Wew Hed <hivreat I eyfine T v 2014 IR e ?
(a) TR faamis (by T Wt faemds
(© % famdis @ T,
Tt S
(1) % (a), (b), (c) (2) ®H (a), (b), (d) -
(3) W (a), [} (d) (4) wiowd
Which Higher Educational Institutions were established after 2014 in Andhra Pradesh ?
(a) Tribal University (b} Mahatma Gandhi University
(c) Central University (d) NIT -
Answer options :
(1)  Only (a). (b). (c) (2)  Only (a), (b). (d)
(3) Only (a), (c), {d) (4) All of the above
66. STTErY FHETST fER 3T ¢

(a) U 2V, Tk WPl & T U fo=R

(b) ST @A gRE AN I

(c) vIaT FrEiedE s gTST Y R

(d) it & Wikhideh fcquETe=n Taodw faiy

afdt I d
(1) ™ (a), (b), (0) (2) HH (a), (b). (d)
(3) WX (a), (c), (d) : (4) P (b), (c), (d)

The ideology of Bharatiya Jan Sangh are :

(a) Idea of one country, one culture and one nation.

(b) The prosperity could come only through individual freedom.

(c) To replace English with Hindi as the official language of India.

(d) To oppose the granting of concessions to religious and cultural minorities.
Answer options :

(1) Only (@), (), () (2) Only (), (b), (&)

(3) Only (@), (©) (d) (4) Only (b, (0), (d)
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67. 2018 o1 Fuiehedl UL, 373N UE. 3 foemdiort aHiw wéR o, o tfecal Ir gearshial
TG ATEH FE AR 7

(a) s feg favafmen (b)) e e et
(c) 3N Tavafaeney | , (d) R faam g

(1) (o), (a). (d). (b) (2) (d), (b), (a) ()

(3) (b) (a), (d). () 4) (@ (b), (o). (d)

The NIRF declared rankings for Uniiversities for the year 2018. What is the correct order
for the following top 4 Institutions ?~

(a} Banaras Hindu University (b} Jawaharlal Nehru University
(c) Anna University o (d) Indian Institute of Science
Answer options : '

1) (e (a) (d). ®) (2)  (d). (b}, (@) (c)

(3} (b), (). (@), (©) @ @m0«

68. TS AR 7 ; ¥y
() TR @ s i St S e T R W we s
(b) Twram! & wfiey mmﬁm-aﬂﬁawﬁ 3.
e AT FIUR/BIH TS 2/ 3R 7 '
(1) ™ (a) (2) wF(b)
(3)  (a) 3FN (b) 3 @ @@t @ T
Consider the following statements : ’
(a) FICCI is the largest and oldgst business organizaﬁo? in India.
(b) FICCI is established under the ministry of commerce and industry.
Which of the above statement/s is/,afe correct ? |
(1) Only (a) (2} Only (b)
(3) Bath (a) and (b) (4) Neither (a) nor (b)
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69. Wﬁm&mﬁﬁﬁmﬁ?

(a) riem (b) e

(© TS \ (d) fowrm

(e) Tmn (H <IEU 3 TR TEH
g I .

1) (a) (). @) (e) | 2 (@) (). O

@) (@, () @). B (4) (@) ®) ©. (4 O
Which of the following have only one seat in the Lok Sabha ?
(a) Mizoram (b} Meghalaya

() Nagaland -~ (d) Sikkim

(e) Goa (fy. Dadra and Nagar Haveli
Answer options :

(1) (), (b}, (d), (e) @) @) (@ (e) ()

3) (@) (. () B @ (), (), ©. d) B

70. 3feTa gt gasi feai| A (CERT - In) & Wifedt 939 (&) HTES 2008 FST 70B
(a) TES AT weER migd=n U, foa favewn sufin war.
(b) THER GEHAL! I Fdfat iy wEy w.
(c) T GRAHEH TAiaE! YehoN IUY HTw.
(@) TER gEEEY w2 miwd GEce 2o
gt e .
1) (a), B3 @) (2) (@), 0 A 3) (a) ()3T (@) @) ). (c)(d)

According to Information Technology (Amendment)Act, 2008 code 70B the Indian
Computer Emergency Response Team (CERT - In) operates in which of the following ?

(a) Collection, analysis and distribution of information related to the events of cyber
security.

(b) To aware about, detecrtl‘the events related to cyber security.
(c) To take emergency measures for cyber security events.

(d) To inform the parliament about cyber security events.
Answer options :

(1) @ ®and (@) () () Gland (@ . (3) (a)()and (d) (4) (b}, (c)and (d)
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71. WEBUH ROR fauE/3 aET R/q?
(a) oMY & nfowd T faifaas Te= .
(b) OTEvt &7 WfERE Y& FESN AHRT Heew TARR g FHer .
(c) VA BTav & Wifcahial A YHRIa fSIRTS <.
(d) Dravit & wiferw AL fHag Te Futen wrwERe fas wa faifaa 7 Tmfgea
TEEAHG B,
it I
(1) (a) (b) (2 (9 (@)
3) e (d) (4) TSt TEE R
Which of the following statement(s) is/are correct ?
(a) A cantonment board consists of nine elected members.
(b) The Chief Executive Officer of the cantonment board is appointed by the Defence
Minister.
(¢) In India, the cantonment boards are divided into three catagories.
(d) The Vice-President of the board is elected by all elected and nominated members for
a term of five years.
‘Answer options :
1) (@ ®) ) (0 @)
(3) (d)only . (4) None of the above
72. GEOTER Hon faum gwR omda ?

(1) TEwie ger afaa g0 38 ve 99 SEnms @,

(2) e ufeg @ 9 wfeaear vE 3R W w5 e H5Hss afga (Cabinet
Secretary) 81 %514 Gieaiodral Y E 3.

() ¥= 99 @ w9 ufaaeaE TWEEE WE o) | Fad TREde Afanes afed w
Fg afearears] TeEsE T T,

(4) ol T T

Which one of the following statemenis is incorrect ?

(1) There is no office in the Union Government which can be equated to that of Chief
Secretary in the state.

(2) The Chief Secretary is the Chief of State Secretaries, while the Cabinet Secretary at
the central level is the Cheif of Central Secretaries.

(3) The Chief Secretary is the administrative head of the State Secretariat while the
Cabinet Secretary at the central level is not the administrative head of the central
Secretariat.

(4) None of the above.
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73. W] waiEE fEs #:
(a) TRfEEE s 7 Yagd aftd FEiears wE e
(b) TfaHEE i 7 TeuasEte famr sfuwaE FaH L.
(c) Trefoem afumrl 1 derad Wifdin dfea T,

(d) TR SR B T UReEe UShIA SusHHIE FH ST,

it 397 :
(1)  (b) 01 (d) e Q) (o) e (d) e
3) (@) (), () 3 (d) @) (a), (b) I (c) FF

Find out the correct alternatives :
(a) The Block Development Officer is the head of the office of Panchayat Samiti.

(b) The Block Development Officer is a captain of a team of extension officers at the
block level.

(¢) The Block Development Officer is the secretary of the Panchayat Samiti.

(d) The Block Development Officer is the co-ordinator of political activities at block
level.

Answer options :
(1) (b and (d) only (2 (c) and (d) only

(3) (@) (), (c) and (d) (4) (). (b) and (c) only
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74. 74 SN wRAGE AUfTaHER WO SSoEea e I,
I |

(a)
(b)
(©)
(d)

243-T

243-V

243-Y

243-ZA

atEtr Iy

(1)
2)
3)
@

(a)
(i)
(i)
()
(iv)

(1)

(iv)
(i)

aq<
() famamm
(i) RufesR e
(i) TS STRE
(iv) SeEE S

Match the pairs regarding changes made by the Seventy Fourth Amendment Act.

(@)
(b)
(c)
(d)

Article

243-T

243-V

243-Y

243-ZA

Answer options :

(1)
(2)
G)
4

@
(i)
i
0

()

(v)
(i)
0

(i
@i

(c)
@

(iv)
(i)
(i)

(d)
(i)
(i)
(i)
)

Provision
(i) Finance Commission
(ii) Elections to the Municipalities
(iii) Reservation of Seats

(iv) Disqualification for members
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" SRS TG TR Foeer FemeTe save IR :

(a) Fde T SEwiEdT Faiv wivar st syum.

(b) faim woE=E TN Fmion FXvamE SIS TS Wt $rals e,

€ wEAER ferdte wqu wriyone. :

(d) DT 1 W & o= sUfas® g3 W Hla I

g qatg fAae :

(1) (a) i () T (2) () 0 (d) wed

(3) (b) e @ (@)

The ‘Oxford Dictionary’ defines the District Administration as :

(a) A territory marked off for special administrative purposes.

(b) The management of public affairs within a territory marked off special administrative
purpose. _

{(c) The total functioning of Governinent in a district.

(d) The portion of Public Administration which functions in the territorial limits of the
district.

Select the correct alternatives : .
(1) (a)and (c) only (2) (a) and (d) only
(3)  (b)only (4) (d)only

76.

@rdte favm faerme =0 .

(a) TIIET & ot AT T ST Ceheh B9, T i S Rt
HH FE TG 374,

(b) ¥IRA TR fufEm 1919 7e8 ‘vt T’ wma%mma’r‘wamm
vifow fafurisam vifds duf I=Rde Tt . 12 a3 for g,

(c) YIRAM Toawie =N TTR% 41 3178 T THOarER SHfen FIvist 39 Aol F:le.

TS v faur/ A |l TR/ ?

(1) - (a) & 2 ()% (3) (a) 300 (b) 4 (@, @) ©

Consider the following statements :

(a) The Village Panchayat was a unit of local administration since the early British
days, but they had to work under Govt. control.

(b) In the Govt. of Indian Act, 1919, the power to enact Legislation was specially given
to the Provincial Legislature by Entry 12 in the Provincial Legislative List.

(c) Act41 of the Indian Constitution provided that the state shall take steps to organise
Village Panchayats.

Which of the statement(s) given above is/are correct ?
(1) (a)only (2) () only (3) (2) and (b) @ @ ) ©
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77. mwmgmﬂghﬁmeﬁmw%ﬁ@ﬁaﬂaﬁaﬁﬂﬁﬁwwmmm7
(1) mewmmn@ammwﬁﬁw@m
ST A1 Aienaid! TEa FEdie.
(2) daEd T Faifad aeai 9 Yan s e aEde T A SIS UR YR A
- A S,
(@) vEmdrH FoevE wevaEE fRam 91 25 9d oRw.
(@) wuw anfn fofes wiEde dardare sty WSSt e FEasusE (AagH).
Which of the following has been provided by the 73’4 Amendment relating to Panchayati
Raj ?
(1) One-third seats shall be reserved for women excluding the number of seats reserved
- for SC and ST women.
(2) The Panchayati Raj elected members shall be disqualified to hold their office if they
have more than two children.
(3) 25 years to be minimum age for contesting elections to Panchayats.
(4) Indirect elections to the post of Chairperson of Panchayats at the intermediate and
district levels,
78. TN TRIVTOTA! AfwREeT TSi®! BV HUF/A SET IR /d ?

(2) TH AEATR HHHS ATHF oo TEAM PR TAUIS (oM & I,

(b) =T 356 @G ANV Hl@M [ANS ward! faum afivg faafsa Fe vaam.

(c) . AT HiHgan e TS SEal FAEs ) e g sare afiewr .

(d) UFR F CASH fadge T faamd A 390 W A faduse FEEm SR
F0 & U1 §IATd 3THd, I e WATSIH! RIAE! i 379 el

QI I

1) (b) 2) ) (), d @) (@) (@ #) (@) (b), (d)

Which one of the following statements with regard to the powers of the Governor of a

_state is/are correct ?

(a) The Governor can make rules for the more convenient transaction of the business of
“the Govt. of the state,

(b} The Governor may dissolve the State Legislative Council during emergency under

Article 356.

(c) The Governor has the power to decide on questf_(’ms relating to the disqualification

of members of the State Council of Ministers.
(d) Once the Governor reserves a Bill for the President’s consideration, the subsequent
enactment of the Bill is in the hands of the President and the Governor shall have no
- further part in its career.
Answer options :

(1) (b) only 2 () (9, () @) (@ @ 4) (@), (b))
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79. WA faum fa=amme
(a) Toazm uftwd=n e favg wfavammr st foee sftaeen fads wdmd aron sgoae
TS Bl
(b) N T VA I B A fae e TREUEH TH aure SreaHadd
AT 4d e
(c) Ffaverarar o foamta woarmid! demuan e fals = sreaamer e
.
() mmmwwﬁmmwmwm
& e
ot FR fayr/ SiET /a2
(1) (@), (®), () 2 ()@ () (@) (o) 3 (a) 4). % (a)
Consider the following statements :
(a) A motion of no-confidence is passed against President of Z.P. at a special meeting of
the Zilla Parishad by a simple majority.
(b) No such motion of no-confidence shall be brought within a period of one year from
the date of the election of the President.
() The special meeting for considering the motion of no-confidence shall be presided
over by the Collector.
(d) The special meeting for considering the motion of no-conﬁdence shall not, for any
reason, be adjourned.
Which of the above statement(s) is/are correct ? .
1) @, ®) () (2) () (e) (d) (3) (c) and (d) (4) Only 3)
80. WfaaTea & & v fafea FOMG Hen 11t Hareed € T HRw 3o ST Ween s

YU TR TR AT 3797 TIPRT QIS v Jnashg uR A/ aftws St
el 2 |

(1) A Y3 WLMEHE YR 3

(2) T FEEET FUR W

(3) OIS WEIHAIA YU ATERT

(4) F @ TEHHF A= it i wfid

Which of the following Administrative Reforms Commission/Committee have
recommended that the distinction between the Secretariat as a policy-making body and
the directorate as a policy-implementing body should be abolished ?

(I} Madhya Pradesh Administrative Reforms Commission.

(2) Rajasthan Administrative Reforms Committee.

(3) Punjab Administrative Reforms Commission.

(4) Kerala Administrative Reorganisation and Economy Committee.
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40 . A

G faur foramm o

(a) 1999 T FEEFEE HERTN HaR FEeH Gt (Metropolitan Planning Committee)
TS A TS R,

(b) T IS ST Wi WeR Fior wftrmed v Qe el ) anfor a1s dan
ST e} §0F HEE 316N,

(c) afrdren wgmmyA foem gl fag Fdt 9w,

(d) ozt @ e = gies 9ee o1l
Fdots! v fFum/A e ang/a?

1) (a) B 2 (@ ®)(d () (b) (9) @ @ © @)
Consider the fdllowin‘g statements :

(a) An Act of 1999 provides for the Constitution of Metropolitan Planning Committee
in Maharashtra.

(b)  As per provision of the act every Metropolitan Committee consisting of not less than
fifty and not' more than sixty members.

(c) Chairperson of this Committee is elected from amongst themselves.
(d) The District Collector is the Ex-officio member of this Committee.

Which of the statement(s) given above is/are correct ?

(1) (a)only 2) (a), (), (d) 3y ®)(© 4) (@), (o), (@)
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82. I S S, _
73 TG )
(a) P T Tt TR W, SR
e 7 e o R
() Y mawmwww
arfyait |
@ Pt o e
At Sy
(@ ®) (¢ ()
O O @ @ @)
@ Gv) @) @
@) @) @) @) ()
@ @ @ @

Match the pairs.

(a)

73" Amendment Act

It devolved the power, authority "
and responsibilities to rural local bodies

Mandatory periodic elections after
every five years -

Authorizes to lavy and collect the
taxes, tolls and fees

Provision of three tier Panchayati
Raj Institutions

Answer options :

1)
2)
3)
(4)

_— m—

@ () (o (@
. ) G (v)
@v) i) @) @)
@ @ ) G
) @ ) @)

T11

ATDE/HR

i) 243B .

) 243G

(iii) 243 E

(iv) 243 H

Articles

i) 243 B
(i) 243G
(i) 243 E

(v) 243 H
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83. AT AiHEREEd EooUH! FIvKd T 3T ?
(1) =it PR & o9 auten FeEdEe 8.

(2) TER W] T HEE A1 €l U] S STRTIS URU HaE HEU=al THU THriet
W &,

(3) <FE IEYE! WSl SUA ow faumuT 9eE 3 i eed e SN U
: a7,

(4) TN AU foeed Goeafaw FIvEE! <rTedT dieen Hial JUR AL

One of the following is true with regard to the Council of Ministers in a state :

(1} The Ministers are appointed for a period of five years.

(2)  The total number of Ministers in the state shall not exceed fifteen percent of the total
number of the members of the two Houses of State Legislature.

(3) A disqualified member of the Legislative Assembly under Tenth Schedule is eligible
to be a member of the State Council of Ministers.

(4) The advice tendered by the Ministers to the Governor shall not be inquired into in
any court.

84. TSicer YA HEw 3R :

(a) T Sfon Yeaeen () TS

(c) TRITE/qET TG o (d) forw frehem wfind

oo e .

(1) (@) 3mfo (d) B 2) (o) 3 (d) wF

(@) (&) F (4)  (a), (b) S (c) ok

The elements of District Administration are :

(a) Law and Order (b} Revenue

(c) Jail administration (d) District Planning Committee

Answer options :
(1) (a) and (d) only (2) (c)and (d) only
(3) (d) only (4) (a), (b} and (c) only
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woie faum faara =1

(a) TG Hread facafusr &1 wrRiwR! <efusit anfn =nfae defumrt arem <6t frs
qrttn:c,'aaﬁ.

(b) I oz en IT=e- Sowﬁmﬁﬁmﬁmmmfwrﬂwméﬁm

HYET S0 A

.i (c). TERTY SNfoy yeoaAed faeetfierrar frame sufn fasm wemem st 9= Q8! semeern

0T AT IR,

(d) ey sufn Tsrerms faeRifusram ¥ frames TEAmEE SoeeRt SvEr e

s F1 faum/? ater g/ ?

(1) FE (a) (2)  (b) S (c) (B3) (a)s(c) 3TMOT(d) (4) (a) FM (b)

Consider the following statements :

(a} Betore Independence, the District Collector acted as both, the Executive Magistrate
and the Judicial Magistrate. ‘

(b) Inaccordance with Artlcle 50 of the Indian Constitution the role of District Collector
as a Judicial Magistrate came to an end.

(c) In Maharashtra and Gujarat the Collector is made responsible both for regulatory
and development administration.

(d) In Tamil Nadu and Rajasthan the Collector is made responsible only for regulatory

administration. .

Which of the above statement(s) is/are correct ?

(1)  (a) only (2) (b} and (c) 3) (@) (c)and (d) (4} (a)and (b)
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86. ToE faum famamd =

(a) faurms o 0O fodgs (fadta fadae sfwsa) faum oftea Weesd stan 99
Afeie FemEHa B Fo T W 2 fadgs g TR Fie of TR 9 faur uiwE
A,

(b) R = g wE faum ofted & fades a1 Seree Avan U Afe= A o9 o
T W A fadas I gurEEgT T 910 o gHe WSS,

€©) R wErR fadms faym wfiedegs wep S fAaredse eEr® s 1 W @
fauas W@ &

Fhede! wv faud/A sieT o e/a?

(1) (a) ® (2) (b) FH @ @® 4 @b

Consider the following statements :

(@) A Bill (other than a Money Bill) passed by the Assembly and the C0unc11 rejects it or
does not passed the Bill within 3 months, the Assembly may again pass the Bill and
transmit the Bill to the Council again.

(b) If on this second occasion the Council again rejects it or does not pass it within
1 month, the Bill shall be deemed to have been passed by both Houses.

(c) If a Bill passed by the Council transmitted to the Assembly and rejected by the latter,
there is an end to the Bill.

Which of the following statement(s) is/are correct ?

(1) (a) only (2) (b)only 3 (a). () 4)  (a). ®) (9

87.

A= FEEEd g gigiE fas w4

(@)
(b)
(©

T Ta&ie{le @rdnde sHardiea Sl aurEu Sl
faurmie ssaramar S afata wfvem amEfaa &

(d) T R sftwriat Fager fratras sfusr sinen o,
Wﬁi‘?ﬁﬂ' :
(1) (a) &M (d) FTB () (b) S0 (c) P
@)  (a), (), (c) 0 (d) @) (@), (c) 3NN (d) Fos

Choose the correct alternatives regarding the functions of Directorate :

(a)
(b)
(€)

(d)

To provide technical advice to the Minister.

To inspect execution of work by district departmental staff.

To organize in service training programmes for departmental staff.
To execute disciplinary powers over subordinate - officers as per rule.

Answer options :

(1)

©)

(a) and (d) only (2) (b)and (c) only
@), (b). (c) and (d) (4) (a), (c) and (d) only
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88. et uftsem arwan foem wftdfien FIvERE sIRw= stu@T SUET SHGSSTET dafaUaTa
C o (Frofea wmEmn) SfieR S o ?
1) foefewd (2) Tavria smgea
(3) T&A FEFR Afrait (4) Tlots! SR TE
Who has the power to suspend the execution of any order or resolution of the Zilla Parishad
or its Committee ? :
(1) The Collector (2} The Divisional Commissioner
(3) The Chief Executive Officer (4} None of the above
89. WEe faum feemg =1
(a) wdes AT Al 399 <TG HIVERE AEHF ST Sl IR wEdiq
FOTI AU taTea T fafiiee RiowE ==l i o T,
) fafunser=n wrfvgds @ auefa farer e gedt o’ 91 SRR TS
faftricariie FIvE wHHT= amfhaat ST& Bae Siq e,
T I
1) fouH (@) /=R (2) faum (b) et
(3) <IErE faum S (4) < faum gEE
Consider the following statements :
(@) No discussion shall take place in the Legislature of a state with respect to the conduct
of any Judge of the Supreme Court or of a High Court in the discharge of his duty.
(b) The validity of any proceedings in the Legislature of a state shall be called in question
on the ground of any alleged irregularity of procedure.
Answer options :
(1} Statement (a} is correct (2) Statement (b) is correct
(3) Both the statements are correct (4) Both the statements are false
90. R TS Hatt S Hew wiHdren fRrwrEh

(a) TI-wT gt Yot fpEada vgdra A sHvan ameE.

(b) STIYfEa Wl 9 STYfaa SHEE! SiHE ST ST,

(c) USRI U HIHHTA T A GaT=1 HevT Tl

(d) fawfSa weam, g aui Fasum Sae wigs.

i I

1) @b @ G0 6 @@ 4 @ @
The recommendation of the Ashok Mehta Committee on Panchayati Raj are :
(a) The three-tier system should be replaced by the two-tier system.

(b} Reservation of seats for SCs and STs.

(c) No participation of political parties in Panchayati Raj affairs.

(d} U superceded, elections must be held within one year.

Answer options :

1) (@), ®) (© (2) (b) (), (d) (3) (a), (b) R CVCY
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91. WREIGUH! HEA fGuR TG Tl ?

(1)
(2)
(3)
“4)

SLLH, Qi e 8 T TS YR A TR e 2.

TS S AR ' TF WI-TF T4 § T TR 8.

T ST ST 15 TEHE A 6 Frranien yow Fmfor FHrvart Rreerw et 2.
T [ AfufEm, 1956 s 14 wehed anftn 6 Fewmfaa wow Fmin Foam o,

Which one of the following statements is not correct ?

(1)
@)
(3)
(4)

The JVP Committee rejected language as the basis of the reorganisation of states.
Fazal Ali Commission rejected the principle of ‘one language - one state’.
Fazal Ali Commission recommended creation of 15 states and 6 Union territories.

The State Reorganisation Act, 1956 created 14 states and 6 Union territories.

92, 74 =q1 HETRE! AfufRE, 1992 T WEISIH HoE fau gEe AR ?

(1)
(2)
(3)
4)

T HEAA IRAE TS T IX-A T T4 GHIf Fo,

1 AN A TR A1 S{YE TS A oL
AT AT ALY FRUGH S ThIT Fraf= GeEs 3.
FHEUR THE! T,

Which one of the following statements regarding 74" Amendment Act of 1992 is
incorrect ?

(1)
2
(3)
(a)

This Act has added a new Part IX-A to the Constitution of India.
This Act has also added a new Twelfth Schedule to the Constitution.
The Twelfth Schedule contain twenty nine functional items of Municipalities.

None of the above.
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93, ANy e oAl |
AR RETAeah S A WEFRAIfR S T Y

(a) STIA HEFTRITGH | @ 1982 -

(b) ITHTTR ATFTRUNSH (i) 1983

() TS TR (i) 2001

(d) ShmEr wEFTRAfaH (iv) 2003 .

g I

(@ (b () (d)
W @) @ @ G
@ v @ @ ()
@ 6 @ @
4) (@@ @ @Gv) @
Match the pairs.

Name of the Municipal Corporation Year of Establishment
in Maharashtra
(a) Akola Municipal Corporation (i) 1982

(b) Ahmednagar Municipal Corporation (i) 1983
() Amravati Municipal Corporation (i) 2001
(d) Awurangabad Municipal Corporation (iv) 2003
Answer options :

@ (b) () (d)
M @ @ @ ()
(2) (v) (i) (W) (i)
@) 6 @ (@)
@ @ @ @) @

94, WO fayuH faErE =i ,
(a) YETSR HUCEN HUAR AT {AMIE, TEME A0 Hikie 95 Amreard A

Hefia Uearen v fafudeam AR,
(b) . TTe Wil Heifera T ferftrigar o Farre 9o 0 YR HEeeR SThns

-
et w faey 3 e R 2

(1) (@) . (2) T (b)

®) (@) 3 ) (4) IS g

Consider the following statements :

(a) State Legislature has the power to reject the changes brought in its area, name and
boundaries by the Union Parliament of India.

(b) Parliament of India is bound to follow the suggestions of the State Leg151ature in the
matters related to the State Boundaries.

Which of the above statement(s) is/are correct ?

(1) (a) only (2) (b)only

(3) (a)and (b) (4) Both are incorrect
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" 95. @S faum faama =0

(a) e wfi e W e

(b) TU= Wil Tamd Aol 9@ <4 9 ARiGYH Hid.

(¢) amEa wfivdi=n Wwrad o wue uiiden uetag AT e,
(d) fom s (TarR) @ aeds afE vefig whae s,

oy faum fas
(1) (a) 3 (b) (2)  (a), (b) 3 (c)
(3) (a), (b) ¥ (d) (4) wio

Consider the following statements :
(a) Sarpanch Committee is appointed by Panchayat Samitee.
(b) Sarpanch Committee gives advice and guidance to Panchayat Samitee.

(¢) The Chairman of Panchayat Samitee is ex-officio Chairman of Sarpanch
Committee.

{d) Extention Officer (Panchayati) is ex-officio Secretary of Sarpanch Committee.
Choose correct statements :

(1) (a) and (b) (2) (a), (b) and (¢)

(3) (a), (b) and (d) (4)  All of the above

96. ‘GOl TN TN HIEEHGIOR TR SAEEIS! Td AiHean gaEd a= 94 g e’
a3 TR o] v Iifd et ?
(1) Soddug Hedl afE (2) oTeieR Agan qffel
(3) .=, Ta () Toud. foua i

‘A Minister for Panchayati Raj should be appohﬁed in the State Council of Ministers to
look after the affairs of the Panchayati Raj Institutions’. This recommendation has been
made by which one of the following Committees ?

(1) Balwant Rai Mehta Committee (2) Ashok Mehta Committee
(3) G.V.K Rao Committee (4) L.M. Singhvi Committee
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97. 34 fawriia sfusmil e wiq e @R @diete Fioa SSiuFela @ (Majesterial
Work) 31 ?
(1) fafay sa duifer e <o
) 9= TR e Afimee dey I, 1948@@614&’&@9%@5@
(3) o TR w, e wie T s S w,
(4) aefaosrien smiat a0 g wdase o,
Which c;ne of the following is the majesterial work of Sub-Divisional Officer or Prant
8§ﬁ€e_11;0. issue various kinds of statutory certificates.
(2) To hear all the cases in connection with tenancy cases under Bombay Tenancy and

Agrlmltural Lands Act, 1948,

(3) To enquire police fmng cases, police custody death cases.
(4) To control and supervision over the work of Tahsildars.

98. W (A) : WISHHAMER &aH3 ToaIier Fe89dd Ygar Ted.
&HIT (R) : qeAn T frgadt adreRn 8.
(1)  (A) 30f0 (R) = S 3RS 9 (R) & (A) = B L e,
(2)  (A) 3o (R) T sE A WY (R) § (A) T B TEHW AL
@) (A) W AR W (R) TF 3Te.
@) (A) 9% HR 9 (R) TAR 370=.
Assertion (A) : Under the Constitution, the Chief Minister holds office till the pleasure
of the Governor.
Reason (R):  The Chief Minister is appointed by the Governor.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A) -
(2) Both (A) and (R) are true but (R) is not a correct explanation of (A)
(3) (A)is true but (R) is false
(4) (A) is false but (R) is true

99, wERT Yoo fawamaex oA HeR FOT FHE F51d SEUHE I 3@
(1) SO HhEIg HIERIT SN A TH FTHS T,
(2) R THfafipigan AR oo anfn Tad Tl fEoe wEg F HEEl H9R Svars
ST e
(¢) T U= e T i fieam,
(4) N =gEE T fafidea aa fofa Sacam.
A law passed by a state on concurrent subject get precedence over the law of the
?Smelf it was passed earlier than the central law.
(2) if it was passed by the State Legislature and approved by the President before
enactment of the central law.

(3) if the Supreme Court so decides.
(4) if the majority of State Legislatures so decide.
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100. TREFRYfGRE Gore faum faem =,
(a) fraifaa TREa®E fFam @0 65 F9mEt.
(b) Traifag TREEFRET FHE &I 221 S,
(c) e TREEERE! W& 7 s SR G,
Fiio faymitest HoR faur gare s ?
M @ @ © ® © (@)
Consider the following statements regarding Municipal Corporation. |
(a) The minimum number of elected councillors shall be 65.
(b) The maximum number of elected councillors shall be 221.
(c) Number of nominated councillors not exceeding 7.

Which of the above statement is false ?

(1) (a) 2y @) 3) (9 (4) None of-&ese

101. GO B faum av= T ?

(1) 15 g<at 1948 TN Fig Tietd Sfoam meifornearel (The Central Police Training
College) TTYAT T Y AY FTAG S M 1967 WA &= THH A GIH

(2) SAYTE 3 FEA YR TR TEEcEdd & S |

(3) mﬁwmwwwmmmwmm@m
EERET

(4) WER TEEIITE 1T T Tei e, i & sentae fardenh g R,

Which of the following statement is not correct ?

(1) The Central Police Training College was established in Mount Abu on 15 September
1948 and renamed as National Police Academy in 1967.

(2). The IPS cadre is controlled by the Home Ministry of the Govt. of India.

(3) The officer of IPS cadre can only be appointed and dismissed by an order of Home
Minister of India.

(4) The Sardar Vallabhbhai Patel National Police Academy, Hyderabad is affiliated to
Osmania University.
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102. TS faum fa=r@ =

(a) e YRAa e eEe d T, v B ¥ e ede s FEn
ETGIRCGII

(b) oifE® wREE da AwfufmEw, 1951 STHER SfEe YRdg Jodie aeei=n Yd fam
mﬁrﬁmmﬁwﬁummmwwﬁwqm@ﬁmmﬁmmaﬁﬁﬁ
F e fae e o

(c) ofas urd da=n aftepraren frgadt anfor faew &g waegR Said 3a sEer
TR Fgr frEam fFmio s stfafad oot =oE & 9 6 %@

il 36T

(1) faum (b), (c) TR 3ARA, (a) TH TR,

(2 M (a), (o) TR AT, (b) TH .

(3) Taum (a), (b) S 31T, (c) TH IR,

(4) T4 faum s{=T 3mee.

Consider the following statements :

(a) Condition of service, regulation of recruitment of the members of A[l India Service
can be regulated only by an act of Parliament.

~(b) All India Service Act, 1951 empowered the Union Government, without consultation

with the state governments, to make rules for regulation of recruitment and condition
of service of the members of All India Service.

(c) The officers of All India Services are appointed and controlled by the Union, these
services constitute an additional agency of control of the Union over the state. .

Answer options :

(1) Statements (b}, (c) are correct, (a) is false.

(2) Statements (a), (c) are correct, (b) is false.

(3) Statements (a), (b) are correct, (c) is false.

(4 ) All the statements are correct.

103. TR IFEATS THM B HeshAMER i1 4ard %9 forr.

(a) T TH, 9o HA1S - | (b} TE TRE HgES
() HURM wftd s (d) TR GURIT SN e
qaft 39
(1) (b) (a), (d). (©) (2} (b). (a). (c), (d)
3  @.®)(©. @ @) @ (b).(d) (@
Consider the following reports and arrange chronological sequence :
(a) Paul. H. Appleby Report - | (b} A.D. Gorwala Report

(c) Santhanam Committee Report (d) Administrative Reform Commission Report
Answer options :

(1) (b) (@) (d), () (2) (b) (@), (c). (d)

3 (), ®) (o). @) @) (@) (®), (d), ()
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104. maﬂaﬁaﬁﬁ%mqﬁﬁm7

(1) -wd e (vw7) fadgd [7=0-110] € foa fadas @@ Wy wd faa fauas
[T==-117] & a1ef (v7) fadas wam.

(2) fau fadus [a=%-117(3)]1 T THRIER el 1ol o F W19 Iehd e,

(3) fox fadme {a17=e2-117(3)] & e WUREME) HAUE S Hict Hrsfauan!
T S YRS G4 S AIoT Wehdl.

(4) TBIE! THE L

Which one of the following statements is incorrect ?

1) All money bills [Article-110] are financial b1lls [Arhcle—ll?] but all financial bills are
not money bills.

(2) A Financial Bill [Article-117(3)] cannot be either rejected or amended by the
Rajya Sabha. SR .

(3) Incase of disagreement between:the two hduses over a Financial Bill [Article-117(3)]
the President can summon a joint sitting of two houses to resolve the deadlock.

(4) None of the above.

105. ‘ErESTE ST T T @ faan e
- (a) ol T deRTe rdush ST mar e RIeREiTER 1950 WS @O
(b) W M w15 TeE oM (SFAGA-10 S TIANNT-5).
(c) oo TomIT seT HeEATHl STeae T et g wehd.

(d) FEATHHGSEN A1 W= EAS § IR SEARRE SEA
et TR Faur/ wEr /a7 -

(1) T (a) | @ @00

@) © @ (@) o T @

Consider the following statements about ‘Committee on Public Undertakmgs

(a) It was created in 1950 on the recomme;qdation of John Mathai, the then Finance
Minister.
: (b) At present, it consists of 15 members (10;from Lok Sabha and 5 frorn Rajya Sabha).
¢) lts member from Rajya Sabha can be appointed as a chairman.
d) Constitutionally the reports of this committee are binding on the government.
Which of the statements given above is/are correct ? ‘
(1) (@)only - @) - (@), b ©
A (B) o fe), (d) : (4)  None of the above
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106. AR / Fehrdl WSt ey | | N

(1) v wiE e dm - faavwes

(2) vIRdg sifee ofg amleyq & - fauvaes

() YR FERY siT ¥ s 4w - foa v

(4) G HEYS A4 - foq g

Identify the mismatched pair :

Name of the Central Service . ~ Parent Organisation or Ministry

(1) Indian Cost Accounts Service - Ministry, of Finance

(2) Indian Audit and Accounts Service - Ministry ‘of Finance

(3) Indian Customs and Central Excise Service - Ministry of Finance

(4) Indian Revenue Service : Lo Ministry of Finance

107. Eﬁaﬂmﬁﬁmﬂfaaﬁaﬂwﬁ')

(1)

(2)

(3)
4)

1955@@31&%@@%#%% m{?ﬂuaaﬁmawﬁﬂmﬁaaﬂaﬁq
3nfor 3RFE A IS HvArE IRy Fet .

Wﬁﬁﬁ%ﬁﬂﬁ@ﬂwﬁmmﬁﬂuaﬁmﬂm ﬂu?ﬁaaﬂﬁmanﬁimﬁh'q
I 7 andra da Fifkiard v W Fe aa, -

wReta o A Frfidd 1966 Ted T,

mwwmmmmamwmwwmﬁmm
3 afae e dard fafif FsogrmaEd foera St .

Which one of the following statements is not correet ?

(1)

(2)

3)

In 1955, the States Reorganisation Commission recommended that the Indian Service
of Engineers, Indian Forest Service and Indian Medical and Health Service should
be constituted.

A Resolution was adopted by the Rajya Sabha on December 6, 1964 for creation of
All Indian Service of Engineers, Indian Forest Service and the Indian -Medical and
Health Service.

The Indian Forest Service was established in 1966.

The Fifth Central Pay Commission also recommended for the creation of two All-
Indian Services - namely - Indian Medical and Health Service and Indian Engineering
Service.
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Brererg Wit w1 Wt 9 favm fae

(a) o QiFdE TG 1921 WE FAVAW ST,

(b) T AT 22 9T JHaE.

(c) TS HEUFS T Tl 3T,

(d) 1963 A faedt ueardies sl Wi seay WA fged 9 9.
it I

(1) (a), (b) 30N (d) 2 (), (o) =f (d)

(@) (a) () ¥ (c) () wlow

Choose the correct statements given below about the Public Accounts Comumittee.
(a) The Public Accounts Committee was set up in 1921.

(b) The Public Accounts Committee consists of 22 members.

(c) The term of office of the members is one year.

(d) Since 1963 the Chairman of the Committee is selected from opposition.
Answer options :

(1) (a), (b) and (d) (2) (b), (c) and (d)
(3) (a). (b) and (c) : (4)  Allof the above

109.

WRaE Fraa® a weeE Wi 1 ISR g U0 GOl oo TErEe gl HoarEt
FR F TG AR Tl ? -
(1) FE Prwdan AT e
(2) e T

(3) IRATE HErATTAE

(4) SEHEYS T

The Comptroller and Auditor General of India can be removed from the office only in like
manner and on like grounds as :

(1) Chairman of the Union Public Service Commission

(2) Supreme Court Judge

(3) Attorney General of India

(4) Speaker of Lok Sabha

.

110!

wmmmwaeowwﬁimwﬂwﬁmmwwmﬂaﬁwﬁw
3@ ? ,
(1) o favm @) g faum

- (3) e wrEER favm (4) He favm

Which department is responsible for the management of financial emergencies under
Article 360 of the Constitution of India ?

(1) Department of Expenditure (2) Department of Revenue

(3) Department of Economic Affairs (4) Department of Defence
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111, vRare d@feg e ©io a=ie gaey 9
(a) RIS A F IYHE i G T W
(b) = FrEdien SRR 999 7 ud
(c) Y PrlaT AT 31e38 1Y Fa7 T W
(d) TGS Ut I ITWITTH 1Y 39 T W
it Iy
M) (@), ®) 3 () @ (), () 31 (d)
@) (@), (o) nfor (q) (4) =W
Which of the following expenditure is made from the Consolidation Fund of India ?
{a) Salaries and allowances of Speaker and Deputy Speaker of Lok Sabha.
(b) Salaries and allowances of Judges of High Courts.
(c) Salaries and allowances of Chairman of Union Public Service Commission.

(d) Salaries and allowances of Chairman and Deputy Chairman of Rajya Sabha.
Answer options :

(1) {(a), (b) and (c) (2)  (b) (c) and (d)
(3) (a), (c) and (d) (4) . All of the above

112, ‘e wfit’ wwmﬁam@raﬂafauﬁﬁww

(@) mmmmaaﬁqﬂwnmmﬁmmmmﬁ

(b) mﬂﬁaa@mﬁwqmmaﬁﬁmwﬁﬁ%ﬁaﬁaﬁm%ﬁwm
HARH TSAITaR 81 31,

(©) mmmmammﬂmmmmﬁam

(d) mmmqﬁ%maﬁaﬁmmﬁaﬁmwmmﬁawawﬁwﬂm

FhoUF Foed faum sler R ?

1) (@ () (0 @ ) ©. @

3) (@) ®) @ (@) () 3 (c) W

Consider the following statements regarding the establishment of ‘Estimate Committee’ :

(a} The first such Committee was established on the recommendation of Finance Minister
John Mathai. _

(b) Generally all political parties of the Lok Sabha are represented in it and the election
is based on single transferable vote system.

(c) The election of chairperson of the Commiittee is based on the principle of seniority
among its members,

{(d) If the Deputy Speaker is a member of Committee, he shall be appointed automatically
Chairman of the Committee.

Which of the statements given above are correct ? . -

(1) @, () (2)  (b), (e). (d) ‘

(3} (), (b), (d) (4) (a) and (c) only
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113. P fawry faamm =0 :
(a) Wwwwwmmmmmmm
(b) o Hresn & Semen QYU 3nfde TSt eI SiEER ATE9. ‘
(c) Tom Haed I Gd vl fafay arais fesw 9 goag T
Tt I
(1) faud (b), (o) TR 34, (a) FPIH .
(2) faum @), () TR 3T, (b) THIE TR,
(3). Taum (a), (b) TR MR, () THIA e,
(4) w4 faum shR 3R,

Consider the following statements :

(@) TheFinance Ministry has been asigned a special position in regard to the management
of the financial affairs of government.

(b) The Finance Ministry is always responsible for the entire financial administration of
the country.

(c) Finance Ministry controls and co-ordinates various spending department of the
government.

Answer options :

(1) Statements (b), (c) are correct, (a) is false.
{(2) Statements (a), () are correct, (b) is false.
(3) Statements (a), (b) are correct, () is false.
(4) All the statements are correct.

114, EOSYET F faum s A1 ?

(1) w8 wfidt 1974 7 e FoaE A

(2) BRI WAH AUS FEATS 1976 TH W He.
(3) e ufirdt=n fowrEr 1977 742 fawrvaa e,
(4) P wfifren fawRet 1979 WY sivomd S,

Which one of the following statements is incorrect ?

(1) Kothari Committee was appointed in 1974.

(2) Kothari Committee submitted its report in 1976.

(3) Kothari Committee’s recommendations were -accepted in 1977.

(4) Kothari Committee’s recommendations were implemented in 1979.
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115. GIABIF! RV HeHged oariee qufas anfer yeemm faws 3 TEoEiaFE w

Id ?

(a) 3R gfemn (b) SHIT S FUNEH

() TeEH. - (d) e

it I

(1) (@), (o) sfor @) 2)  (a), (b) = (d)
3) (@ 37 (@) (4) (a) 30fOT(a) .

Which of the following corporations are audited totally and directly by the Comptro]ler
and Auditor General (CAG) of India ?

(a) ' Air India _ (b) Damodar Valley Corporation
() LIC. (d) R.BL

Answer options :

(1) (@), (c) and (d) (2) (a), (b) and (d)

(@) (a)and (b) (4) (a) and (d)

116, T faere/ faurt Frare
(a) TGN FeOUUR e A1 WRAMS TR o ST g,

(b) W Y& Tl Fidie T A Wil § e 99 TRl I9TEE 9fas et
(c) e W §ade Hee Ad- Tod TR 3 el a7 Fg TR .

iy 39

(1) f3um (a) S0 () SRR; (b) T

(2) faum (o) TR; (a) 70 (b) .

(3) faum (b) Fe; anfon faum (a), (o) T+

(¢4) e wd faum sk

Choose the correct statement/s.

{a) Sardar Vallabhbhai Patel called as Father of Civil Services in India.

(b) The names of the members of gazetted class of State Services are published in the
government gazette for appointment and retirement.

(c) The salaries of members of Alt-India Serv1ces given by state government and pensions
by central government.

Answer options :

(1) Statement (a) and (c) are correct; (b) is wrong.
(2) Statement (c) is correct; (a) and (b) are wrong.
(3) Statement (b) is correct; and (a), (c) are wrong.
(4) All above statements are correct.
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58 A

T g gamdte wRfagnfim sfusdt e ‘dvefim e’ ygde wiieor Suare
[eard HveA] REias SvaW STt 7 '

(1) Yo 1R, 3ues Eare

(2) EH IHgar S

(3) WETHRY GUROT TR

(@) TS fawE ofteg

The ‘Sandwich Pattern’ of training for the IAS Probationers was introduced on the
recommendations of :

(1) Paul. H. Appleby Report
(2) U.PS.C.
3

)
) Administrative Reform Commission
(4)

National Development Council

118.

TPehel v STy Shgdl § TR 429 31Ha ?

(@) e g (b) T s

(©) O Fan whm A (d) wEr S ah
et T -

(1) (2) 3 (d) @ () (b) 3001 ()

@) (b) (© W (d) @) (@) ®), (© 3 (d)

Which of the following Comunittees consist of representatives of both the house namely
Lok Sabha and Rajya Sabha ?

(a) Estimate Committee

(b) Standing Committee

()  Public Account Comymittee

(d) Committee on Public Undertakings

Answer options : ‘

(1) @and@ . 2) (@), ®) and (¢)

(3) (), () and (d) @) (@) O, () and (d)
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119. 5T SFHET SER=A1 STeta oTeeh I e,

(a) FEIT R T USH U8 WISTHM W Siehdal TR fhar Fa Jedan
AN TEATUSEST 9T 3TEal.

(b) FET AFHE I A FeAd IR, fread A faren Twowe e 1979
el Fate RS el 6T , _

(c) oruflerdge fFal SO FIdt FRWITes 3gel 1 HOY &M 3! 08l TLIA UPSC
1 Toh1 WIS B 31eme] WA g wE v,

(d) UPSC?H fras Feam Shearman o wger Afuswn i g,

Taidt 36

(1) (a) 7o (d) @) (b) ()

(3) (), (b) 3 (o) (4) o w

Choose the correct options regarding Union Public Service Commission (UPSC) :

(@) On ceasing to hold office a member of UPSC is eligible for appointment as the
chairman of UPSC or State Public Service Commission.

(b} In 1979, the Supreme Court upheld the validity of appointment of A.R. Kidwai, a
former chairman of UPSC as the governor of Bihar State.

(c) The President can appoint one of the members of the UPSC as an acting chairman,
when the chairman is unable to perform his functions due to absence or sotne other
reasons. . )

(d) The candidate who selected by UPSC confer right to the post.

Answer options :

() (@) and (d) (2) (b) and (0

(3) (a), (b) and (c) (4) All of the above

120. fog maPTEs Yl @ele faum faeme =i .

(a) WA ToAweAd TR 280 B foa swdnma fm-—araedi= <=1 e &
(b) TR TEEAH! AU Ta9HMT AJHAHS HAHSZER FIAl S,
(c) ST FEE THHTEHEE U SFHaw.

(d) I T LAY U 37 5 W IFFAT,

TS HIv AU S 3TRd ?

(1)  (a) 37 (b) (2) () 3 (o) (3) (b) 3M (o) (4) () *1foT (d)

With reference to the Finance Commission, consider the following statements :

(@) Article-280 of the Constitution of India provides for a Finance Commission as a
quasi-judicial body.

(b) The members of the Commission are appointed by the Council of Ministers headed
by the Prime-Minister.

(¢) The members of the Commission are eligible for re-appointment.

(d) It consists of a chairman and two other members.

Which of the statements given above are correct ?

(1) (a)and (b) (2) (a) and (c) (3) (b)and (c) (4) () and (d)
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121. YITERT (GAEUT) HIEET, 1986 MLIE Fahivl 3 U@ Hod T el qgiaLond
TEEUTIRE T, fa0 3 fojem ammEd /EEia a9Ee a1,
(1) 9,20 () 8,19 (3) 18, 22 @ 7,17
Sections to of the Environment (protection) Act, 1986 contained
in chapter III of the Act relate to prevention, control and abatement of environmental
pollution. .
(1) 9,20 () 8,19 3y 18,22 @) 7,17

122. ifegdi= sfueR= ST e o

W et afurerr ifufm v
@) IS fahen (i) 1985 ‘
(b) TS dgw T (i) 1946
(c) afefomm (i) 1982
d) v @v) 2005
'ﬂﬂ'hﬂa?ﬁ' H

@ (b) (o (d)
1) @ @) (@) @Gv)
@ @ @ (@v) (i)
@y (@@ @) @ (@)
(4) (@) @ (@) (iv)
Regarding Right to Information match the following :

Country Year of Right to Information Act
(a) United Kingdom (i) 1985
(b) United States of America (i) 1946
(c) Australia (iiiy 1982
(d) India {iv) 2005

Answer options :

(@ (b} () (d)
(1) @ @) (@) (i)
@ @ @) Gv) (i)
@) @) @) @ @)
@) G} @ @) (iv)
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123. qEio faeiain faeam &

(2) 3o =THRH (b) SIS SFeER HH

(c) e M 1R IFR (d) T I T FHiA g

It Fron gl Safifes =radweEien devld o ?

(1) (a) 30 () (2) (b) 3nfor (d)

(3)  (a), (b) M0 (c) (4) o wd

Read the following Doctrines :

(a} Ultra Vires (b) Audi Alteram Partem

(c) Delegatus non potest delegare . :(d) Nemo judex in Causa Sua

Which of the above mentioned Doctrines are related to the Principles of Natural Justice ?
(1) () and (0 () (b and (d)

(3) (a), (b} and (c) (4) All of the above

124. A 9H B 91 e-mail id TF H&A C = IKATH Hol. ‘
WA 7 wifedt GaaH FTERT 2000 M A B0 T[T HHA 2
(1) ¥-HoSiEn () A dw
(3) ¥ W (FEAH) (4) ¥-fre wgfhT
A by hacking B’s e-mail id abuses C.

Which of the following offence is committed by A ? Under the provi};ions of Information
Technology Act, 2000.

(1) e-mail Bombing (2} Identity Theft
(3} e-mail fraud (cheating) - (4) e-mail spoofing

125. FEfEEH oo wafEH, 1923 TR T1fEd! SUE Feard U Gl Hivml g4 ?
(1) wEfeda Afedt 3aE HoT=™
(2) T Hifed! TEiEROTTE
(3) SHISUH HIMAET AT
(4) = e
As per the Official Secret Act, 1923 who will be punished for the offence of disclosure ?
(1) Who discloses official information
(2) Who receives official information

(3) None of the above »
(4) Both of the above
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126. rgfaa swdt enftn srgfae s R (e sfufaa = devia gée el faam «a

anfor e 3y SETER e Mg fahan A @ @i,

(@) “a” 31 MES I oA Ta B M TAAHIE W2 TR HROEr
TGV & IS TeeRl hiee 9 e W STTa.

(b) ”W”mﬁqﬁaaﬁw,%&mﬂmmv@mw,aw
ST 3R V[ AR feor T1ft e 3R ghH wies.

gt 3w

(1) (a) B9 IEER TR (b) 7Y 7L

(2) (a) 78 FEER TR (b) 7Y IR

() () 3707 (b) S T TN TR U IR,

4) (a) 27fH (b) S SRV TS FTFRNIAN LG TN AR gSSS 8.

Think about following facts in relation to the provisions of Scheduled Castes and Scheduled
Tribes (Prevention of Atrocities) Act and state wheather the offence has been committed
under Section 3 or not. '

(a)  All the people belonging to Scheduled Caste of the village “a” beat open category
School master without reason and drive him out of the village setting his house at
fire.

(b) “Kisan” a Scheduled Caste owner of “Hair Cutting Salon” refuses to cut hair of

Pandu because he belongs to Scheduled Tribes and drove him out of the salon beating
. him.

Answer options :

(1) Under (a) there is an offence not under (b).

(2) Under (a) there is no offence but under (b} there is.

(3) Under Both (a} and (b} offence is committed.

(4) No offence punishable under above mentioned Act is committed under (a) and (b).

127. 3Tefea St snft s fed ot (s gfoay) famsiarta fad sfusi moa
=7 Ya el AT YU Fa A AT
1) o <aifusrt () IfafEa faee sefusdl
(3) oo = (@) el faes =
Special officer appointed under the SC and ST (Prevention of Atrocities) Rules, shall not
be below the rank of
(1) District Magistrate (2) Additional District Magistrate
(3) District Judge (4) Additional District Judge
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128. W,WWWWWWWWWQWWM?

(1) %9 122 B (2) FO9 125 BLAHE
(3) WM 127 BLAE. (4) TS FER A
Which provision speaks about maintenance to be granted to wife, children and Parents of
Man ?
(1) Secton 122 of Cr.P.C. (2) Section 125 of Cr.P.C.
(3) Section 127 of Cr.P.C. " (4) None of the above
129, T Taek T Afufram, 1955 wdie wed TR T WA UhRIs 5958
(1) 9 (2) 10
@) 10-C (4) wota BonE @
Under Section of the Protection of Civil Rights Act, 1955 State Government
has power to impose collective fine.
{1y 9 (2) 10
3y 10-C (4)" None of the above

130. Igfoa vt it aTggfaa Smrd (SRR wiaay) sifufm, 1989 AWis wew
e oy e e oot TR
(1)  2(1)(a) (2)  2(1)c) 3) 2(1)(d) (4) 26

Under Section of the Scheduled Castes and Scheduled Tribes (Prevention of
Atrocities) Act, 1989 the definition of ‘special court’ is given.

(1) 2(1)) () 2(1)() 3) 2D ) 2(1)n

131. Wifgdl dAA FEgl 2000 HHS w2 ( ) JER  fdrfew el fawn! o
e famgen #t YR ugdl 3.

1 f @ e 3 h @ g

According to Section 2 ( ) of Information Technology Act 2000, “asymmetric
crypto system” means a system of a secure key pair consisting of a private key for creating
a digital signature and a public key to verify the digital signature.

(1) f (2) e 3) h 4) g
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132. Aifed dm fufem, 2000 9 Fow W AR CENaaREEl Vg WaE
e ame,
(1) 66B () 66C
B) 66F @) it T
Under Section of the Information Technology Act 2000, the provision regarding
punishment for cyber terrorism is given.
(1) 66B ) 66C
(3) 66F (4) None of the above
133. TE® T sifafm, 1986 =0 AT SIS T |
qren C I
(a) WEw @) 2(0)
(b) THR (i) 2(g)
(c) HQwar | (iif) 2(d)
@ & v) 2b) -

@@ () (9 (@
1 @ G @)
@ @ O ) @
G @ @ @@ @)

(4) @) @) @ @

Match the following regarding the Consumer Protection Act, 1986.

Definition Section
(a) Consumer i)  2(0)
(b) Complaint i) 2(g)
(c) Deliciency (i) 2(d) ol
(d) Service (iv) 2(b)

Answer options :

(@ () (¢ @
1y @ @ @) (i)
2 @ @ @) (i
@)y @ @) i) (@)
(4) (@) @v) @) @
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134 Figfas R & Al TR T S SR GetE FIE W S A 2
(1) fwn s 1994 (2 fafsin feetmm
(3) Wewid Wit faRm, 1995 @) o wd | | o
:Among following which acknowledged that domestic violence is undoubtedly a human
rights issue ?
(1) Vienna Accord of 1994 (2) The Beijing Declaration
(3) The Platform for Action, 1995  (4) All the above

135.

A T we otfuftam, 1993 JRR e wEL

heH T
(@ 2(1)(c) (i) WE g A Py
®) 2(1)(d) (i) SrpgfEa Sl A swRyfea SRR U S
© 20)G) (it) A TR
@ 2(1)(e) (iv) M
it Sy :

@ @ (@ (@
(1) @v)y @) @ @
) Gv) (@ @) (i
@) @@ vy @ ()
(4 (@ @ &) 6
Match the following regarding the Protection of Human Right Act, 1993.

Section Definition ‘
(@) 2(1)}9) (i) Human Rights Court
) 2(1)(d) (i) National Commission for the Scheduled Castes and Scheduled
' Tribes
© 20)(3) (i) Human Rights
(d) 2(1)e) - (iv) Commission

Answer aptions :

@ @ ( (@
M @ @ @
2 Gv) @) @) @
G @ @) @ (@
(4) @) @@ G O
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136. it sifirprren FrrnsiTia yEots! ' Fawg g’ i ?
(@) T
(b) wRaT A THeA kil WY A wfedt frdvaret ot Fen st
() W - o
et 3T
(1) () 3 () (2) (a) P
(3) afoder wd - (4) =hedE! ol
Who is a “Third Party” under the provisions of Right to Information Act ?
{a) Citizen of India
(b) A person making application to seek information but not a citizen of India
(c) Public Authority
Answer options :
(1) (b} and (c) (2} (a) only
(3) All of the above : (4) None of the above
137. GHEIE TR TNHHG FEES 79 R/ S ?
(1) & & - (2) WE@A I’EA (Committee Reports)
(3) e I - (4) Flots ud .
Which of the following is/are the sources of Administrative Law ?
(1) Statutes (2} Reports of Committees
(3) Administrative Practices (4} All the above
138. WA Hfaumr=An S7=g AYY 3EF § TohoA e SXeTom=an aeqa feoear
g,
(1) 20 - (2) 21
@) 22 (4) TS HIoE AR
Under Article of the Constitution of India provisioh regarding protection
against arrest and detention is given.
(1) 20 2 21
(3) -22 ' (4) None of the above
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139. WeF TV FET, 1986 TS HSH 2(1)(P) 34 ' TF 379"’ =os Ee Ho
T T T G Weeh dshi e arim 2,
(1) a7 - (2) b9 3 c8 (4) c9
According to section 2(1)(P) of the Consumer Protection Act, 1986 "State Commission’
means a Consumer Disputes Redressal Commission established in a state under clause
of section
1. a7 (2) b9 (3) c¢8 4 c9
140. W g9 weem aifufram, 1955 @1 swEeneiaa ' goFm A e w5 ?

(a) S W TR Fre SR AT <.
(b) W& fFTohIe Mo famer s sl s,
() Witaren faan fasean ar=TrRe SteaET TR TR foha et gy s we e sE

H, :
@ .
g IW fHasn
(1) (a) 31 (b) @ (@) (b) 30 (@)
() (a) (b) 0 () (4) a0®wd

Under the provisions of Protection of Civil Rights Act 1955, what is the meaning of the
word “shop” ?

(@) The place where goods are sold on whole-sale basis.

(b) The place where-the goods are sold on retail basis.

(c} The place where hawkers or vend_'o'r sells his goods in mobile vehicle.
(d) Laundry "

Choose the correct answer :

(1) (a) and (b) 2 (@) () and (d)

(3) (a), (b) and (c) (4) All of the above
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141. HAfedten fusr @1 TSgueT=n 3T =R ALY WY F AT AT gahad
Fadd ST eI wAE AT .
(1) 15, AR (2) 21, SN THRAT
(3)  19(1)(a), SMIHH (4)  19(1), TRRI HATHHFHAT

The Right to Information was included within the right to Freedom of Speech and’
expression guaranteed by Article of the Constitution and since that right is
guaranteed only to

(1) 15, citizens (2) 21, Govt. offices

(3) 19(1)(a), citizens (4) 19(1), Government officers
142, ¥R Afqee Segio=n sy § el a8 Fo Fam ?

(1) YR gt

) T TGS

(3) YR WW T HE THN

(4) | HRATS G Teea™ %8 TR .
Who selects the Chairperson and Members of the Cyber Appellate Tribunal ?
(1)  The President of India

(2) Governor of the State

(3) Central Government in Consultation with the Prime Minister of India

(4) Central Government in Consultation with the Chief Justice of India
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143.‘wmﬁ$?1mrfummaﬁ[¢wﬁmgm‘:

arfufirem WITTHF S ATaTerERToT
(a) STenfier ar sifufm, 1947 () T =i
(b) wRdrA eEeRy sfufm, 1961 (i) e =T
() Drwufaredt stfufew, 1951 (i) &R TR
(d) et arfufEm, 1956 (iv) I AT
gt 36T

(& () () (@
M 6 @ G )
@ ) @) @ @
B (v @ () ()
@) @ (v @ @
Match the following regarding Administrative Tribunals :

Act Administrative Tribunal
(a) The Industrial Dispute Act, 1947 (i) Election Tribunal
(b) The Indian Income Tax Act, 1961 (i} Appellate Tribunal
(c) The Representation of the people ‘Act, 1951 . (iii) Central Government
(d) The Companies Act, 1956 (iv) Labour Tribunal
Answer options :

@ ® © (@
M O @ @
@ @ @ @ 6
@ @ @ 6 @
@ @ ) @ 6

144.

M

. FHEUE T ST GSUH! H0d g2 o 7

anfefen waraa (2) Safee v

(3) fawemETs vauE - @) whowEd

Among following which issue was involved in A.K. Kripak’s case ?
0 @
(3) (4)

Personal Bias
All the above

Pecuniary Bias
Bias as to Subject Matter
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145. TAGTH FAHS T FRES B 2
(1) g , (2 wR
(3) ¥ HEA (4) =T
Among following which is/are source/sources of Administrative Law ?
(1) Constitution = | (2) Statutes
(3) Case Law (4) All the above
146, Y=MER WEy sfufrmrde o0 ¢ TER dfyd weaa aease TaRn geeams faom
Jrmite fRdt wreEdE gEaren fder s o+ veara ?
(1) T HE Q) dHTEN
(3) - T Hfeaien S w3 (4) T Tuien SRa T80
In the case of any conviction in a Summary trial under Section 6 of Prevention of Corruption
Act, which sentence of imprisonment shall be passed by the Special Judge ?
(1) One Month (2) Three Months ‘
(3) Not less than Six Months (4) Not exceeding One Year
147. PR 5ok WETr AfufEm, 1955 1o %o 15 TaR ST AT TE Yo Weal HrefavarE

R e ?

(1) em i FEEefywr (2) T AR

() e e : @) St FotEd T

As per Section 15 of the Civil Rights Protection Act, 1955 who is authorised to take
cognisance and conduct trial of the offence ?

(1) Judicial Magistrate first class (2) Sessions Court
(3) Superintendent of Police (4) None of the above

148. oo uTe AT STRINTaEG U9 SERT 311Ue SrEe Hivarehiial vl Jd- 372 Uaoe! 3t ?

(1) T9 < S9N 3

(2) THHA T TFh fohal 98 U9 TR AT HH O WRH
(3) T UHAE T Tohal T99 UEATH g 39 '

(4) T UAN o (a1 T T RE! 3

. et e . * -
What is the pre-condition for filing an appeal against the order of District Forum before

the State Commission ?

(1) Deposit of Rupees Ten Thousand

(2) Deposit of fifty percent of the amount or Rupees Twenty Five Thousand, whichever
is less o

(3) Deposit of fifty percent of the amount or Rupees Thirty Five Thousand

(4) Deposit of fifty percent of the amount or Rupees Fifty Thousand
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149. gl It snfon segfaa SRt (Sremer wiwEy) afufEerds s /e week
TfiFa wifedem wod 438 91 aTR wet sfufrmeiaa T Foem SRR Ha AvR 9 2
() ®EA17 - (@ FHI8 . (3) FOM19 (&) FOH2D
Which provision of the SC and ST (Prevention of Atrocities) Act specifies that, Section 438
of Cr. P.C. shall not be applicable to person committing an offence under this Act ?
(1) Section 17 (2) Section 18 (3) Section 19 (4) Section 20

150. *‘wifet firwrrn SE anft WS iR afufam’ a1 B Frr= devla @io faumin
faam =11,
(a) TS A FHUE e Rqd AeeE™ (el afuer s Wl o
(b) < wErE=N i IR 0 anfr Re S R0 W Rt R W TR,
Arg SR fae

(1) (a) TR ) TF (2) (a) TF (b) T

3 @frpIFREITFE 0 (@) (a) 30 (b) DF fawF WM
Think about the following statements in relation to “Right to Information Act and Official
Secrets Act”’.

(a) In case of contradictory provisions under both Acts the provisions under "Right to
Information” Act will prevail.

{b) Under the provisions of both the acts the punishment, is prescribed for “spying”
and also for giving shelter to any spy.

Choose the correct answer :

(1) (a) is correct (b) is wrong (2) (a) wrong (b) correct
(3) Both (a) and (b) wrong (4) Both (a) and (b) correct
-0 Do-

HoAl EHETE W /SPACE FOR ROUGH WORK

P.T.O.



T11

72 A

Tl — (Y& 1 61 [@....)

®) wgfEerae fafea Foea fafine sty =1 $W (I 9%) F0E,  FERaFAfaa IaulFnat o
TN FORER = FH HeIM q @ FOAl AN F& AR, 3 TS TES 9 THER SHEARNER
AR SR Foe * wieisd B Ao vy FoaEEas affrm-g2"! T SEeTar wREn
FEE AWE I I TR TG TF JUS FETE /el T TF TR @ derem fam
I B

(9) WX WUHFFER S fafeq FSH d2 Huearal SHEAN & WIAYFshl W ael YaehaaRt
UFA TOE TG SR, A GHET wAVETER SToagEl SHEarr SRTear JEae WT-1
AHAYETES T fauEr W &t suavad I

W wH

0. . 201.

AT 99
201. WA GG AL FOAER HIV GO FIH FO 2
(1) w&w AR wEEd 2 IeEREs fauErR
@) T UHHE U @ TS iR
& W A I (3) T WA T 3T R NS W W S C(3)" dde. arad
TRACHIO! F¥ F. 201 FAS Ia-sraie ** (B) ' & o oiwl SRIH Fe et s
AR,
ONON NO .
M TEAT TR TG TE T (I SaGhHIE B T Wdie [Eeen

IS 7 T TERAEHAS Hafyd age U Srifea w& qradE.  graeiar
e Fd! VS FioA anala, WS 91 vEe U auE T4
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A IW ST ki
FHH |GG A | 99B | €9C | 9D FH® | GHA | GIB | WOC | €EGD
51 1 1 2 4 76 1 4 3 4
52 4 1 4 1 77 4 4 4 3
53 1 3 4 2 78 3 4 1 1
54 3 1 2 2 79 3 3 3 1
55 3 2 1 3 80 1 4 3 4
56 1 2 2 4 81 1 2 3 4
57 3 1 1 2 82 3 4 1 3
58 4 1 1 1 83 4 1 3 4
59 1 3 1 1 84 4 2 1 3
60 4 2 3 2 85 4 3 3 3
61 3 1 4 3 86 4 1 4 2
62 2 3 2 2 87 3 3 3 4
63 1 4 3 2 88 2 4 4 1
64 2 3 3 1 89 1 3 2 3
65 3 4 3 3 90 3 1 1 3
66 3 3 1 3 91 3 2 2 3
67 2 2 3 3 92 3 1 3 4
68 4 3 2 4 93 1 3 3 1
69 3 2 3 3 94 4 3 2 3
70 2 2 3 2 95 3 3 2 4
71 4 3 4 1 96 2 1 1 2
72 2 3 4 1 97 3 2 4 3
73 4 3 4 3 98 1 3 3 2
74 1 4 4 1 99 2 4 1 4
75 3 1 3 3 100 3 1 1 2
# TYIfaTIel U9 T AT AT AT
GS.-1I e« 3 fe@, Ro%¢
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FHE | GTA | 9GB | €C | §ED w99 A | 99B | 99C | 99D
101 3 4 3 2 126 4 4 3 4
102 2 3 3 2 127 2 2 1 4
103 2 3 4 3 128 2 4 4 3
104 2 3 3 3 129 4 4 2 2
105 4 3 3 4 130 3 3 2 2
106 2 2 2 2 131 1 1 3 2
107 2 2 2 3 132 3 3 3 2
108 3 4 2 3 133 4 2 1 2
109 2 2 3 3 134 4 2 3 3
110 3 2 2 2 135 1 2 4 4
111 3 3 3 3 136 # 4 2 1
112 3 3 3 2 137 4 3 2 2
113 4 2 3 3 138 3 3 4 1
114 3 3 3 2 139 2 1 4 3
115 3 2 2 2 140 4 # # 4
116 3 3 4 3 141 3 4 2 2
117 3 3 2 4 142 4 2 1 4
118 3 2 3 3 143 3 2 4 4
119 3 3 2 3 144 2 1 4 3
120 2 3 3 3 145 4 3 4 4
121 4 2 3 4 146 4 1 4 1
122 1 1 4 2 147 1 4 1 1
123 2 4 4 3 148 2 4 2 #
124 2 4 2 4 149 2 2 1 1
125 4 4 4 4 150 1 4 2 4

# TYIeTCIo U9 TE FRUATH AT AR
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